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Question Number : 1 Question Id : 967947405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following series:

a aab a ad

Options :

1. * abcab

2. % aacaa

3. * baaca

4. % cabaa

Question Number : 1 Question Id : 967947405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
BEINICRECRICAR RUCES
aaab a ad

Options :

1. # abcab

2. ¥ aacaa

3. # baaca

4. % cabaa

Question Number : 2 Question Id : 967947406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following series:

_q.1p_r pqr_

Options :

1. ¥ prqrr
2. ® rpqrr
3. % qprrr
4. % 1pqqr

Question Number : 2 Question Id : 967947406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad e &1 -6
_q_rp_r_pqr_

Options :

1. ¥ prqrr

2. % rpqrr

3. % qprrr

4. % rpqqr

Question Number : 3 Question Id : 967947407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Each consonant of the word ‘DEFAULTS’ is changed to the previous letter in the English alphabetical series and each vowel is changed to the
next letter in the English alphabetical series. How many letters will appear twice in the new formation?

Options :
1. ¥ None
2. % One
3. % Two
4. % Three

Question Number : 3 Question Id : 967947407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&G 'DEFAULTS' & U ol $I 3ISht quiTar gadl & fUad sieR ¥ gad a1 T § SR Uds R &1 Sl quiarem §Raar & orTd
3feR W 9o far T g | 78 e+ # fhdn 31&R 3l IR S

Options :

1. ¥ BIS g1

2. % TH

3.% Q)

4. % dH

Question Number : 4 Question Id : 967947408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many meaningful words can be made by changing only the consonants in the word STEAM so that each of the consonants is replaced by
the previous letter in the English alphabet, by using each letter only once in each word?

Options :
1. % 4
2.%5
3.% 6
4. ¥ 8



Question Number : 4 Question Id : 967947408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iec STEAM H had o] &l Sgads fdra- AUl Weg ST ST Tehd g dlidh Tdd Xeq H TAH 1R BT Hhad U IR STINT 6,
T ol I 3iieh JUiATeT & fUwd 31&R J Seell ST 82

Options :

1. % 4

2. %5

3. % 6

4.9 8

Question Number : 5 Question Id : 967947409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ Greed
2. % Gulpy
3. ®* Gummy
4. # Gunky

Question Number : 5 Question Id : 967947409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e et # § & v i % § g €1 gTaiies, U fAshed 30 ofiF o1 avg T8 81 3 fdched &1 9a &3 off 30 3T ]
Options :

1. « dlcid

2. % TChHT (Tl

3. % foofaan

4. % TP




Question Number : 6 Question Id : 967947410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. % Carrot
2. # Potato
3. # Garlic
4. ¥ Cabbage

Question Number : 6 Question Id : 967947410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U fadenl & ¥ o U M3 aRich ¥ 9HH 8 | gTallich, T [dahed o A &1 IRE -Tal 6| 3% [Adhed HI Ia- B off 30 J 3T |
Options :

1. % TR

2. % 3l

3. ® degd

4. gt

Question Number : 7 Question Id : 967947411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % Eye
2. # Ear
3. % Nose
4. ¥ Brain



Question Number : 7 Question Id : 967947411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu Tt fowedl A @ & e (Rfd % T THH B 1 gTdiTd, T faded 3 diF o1 aRE el ¢ | 39 fached o1 I &Y oY 30 ¥ 3T B |
Options :

1. % 39

2. % P+

3. % Alh

4. ¥ ARRTSH

Question Number : 8 Question Id : 967947412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. * Cork
2. % Stone
3. # Paper

4. % Furniture

Question Number : 8 Question Id : 967947412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few T imedl H @ & T RfYd a5 A U &1 gTalTP, T faped 3 diF o1 oRe el ¢ | 39 f[dhcd o1 I8 &Y off 30 ¥ 3T B
Options :

1. % Bl

2. ¥ R

3. % PN

4. % BARR

Question Number : 9 Question Id : 967947413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Monotony : Variety :: Crudeness : ?

Options :

1. ¥ Refinement
2. % Raw

3. % Sobriety

4. % Simple

Question Number : 9 Question Id : 967947413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 oy &1 999 B I R Ue § I UHR ¥ afid § oy R ¥ k1 Ue Ugd Ue § Yafdd 7
W:W::W:?

Options :

1. ¢ MY

2. % bl

3. % ggH

4, % Il

Question Number : 10 Question Id : 967947414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Steel : Rails :: Alnico : ?

Options :

1. # Airplanes
2. % Machinery
3. # Silver ware
4. ¥ Magnets



Question Number : 10 Question Id : 967947414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdHed T 997 B S ik UG 9 341 UHR ¥ Yafdd g fo JR ¥ 3R UG Ugd Ug ¥ Hafed g
W:W::W:?

Options :

1. % gaTSogTST

2. % HRIRY

3. % Fidl & gl

4. ¢ JWHH

Question Number : 11 Question Id : 967947415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Newspaper : Editor :: Play : ?

Options :

1. ¥ Director

2. % Singer

3. # Theatre

4. ¥ Actor

Question Number : 11 Question Id : 967947415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fached 1 79 B St R U A I U I Heifere B for yoR 9 garT ue v ue | Wit g
HHERYA : JUIgd :: dICdh : ?

Options :

1. ¢ f1dwe

2. % T

3. % UTHY

4. % AT




Question Number : 12 Question Id : 967947416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Summit : Apex :: Summon : ?

Options :

1. # Judge
2. ®% Court
3. % Beckon
4. ¥ Witness

Question Number : 12 Question Id : 967947416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [dehed &1 999 B S e UE I I UHR ¥ A& fd ¢ o UHR ¥ gkl UE Ugd U & Hafdd g
fRReR : gt +: SgaM : 2

Options :

1. % et

2. % 3fqldd

3. ¢ Gobd HRAT

4. % qreft

Question Number : 13 Question Id : 967947417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If AGAIN is coded as 53587 and PERIL is coded as 62489, then what will be the word for the code 654537
Options :

1. ¥ RAPAG

2. % GAPAR

3. ¥ GARAP

4. ¥ PARAG



Question Number : 13 Question Id : 967947417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I AGAIN B 53587 & ¥0 T Sifad foal 7T 8 SR PERIL BT 62489 & F0 T Sifad [hal TT B, T BIS 65453 P [T o1 XMeg BRI
Options :

1. # RAPAG

2. % GAPAR

3. ¥ GARAP

4. ¥ PARAG

Question Number : 14 Question Id : 967947418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If TIGER 1is coded as QNDJO and TABLE is coded as QFYQB, then the word TITANIC will be coded as?
Options :

1. ¥ QNQFKNZ

2. % PNPFKNZ

3. ¥ QNQKFNZ

4. ¥ NQQFNNP

Question Number : 14 Question Id : 967947418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife TIGER BT QNDJO & ¥U H Pifsd fHar a1 8 3R TABLE &1 QFYQB & ¥4 # sifed fobdn Tam 8, dl TITANIC ¥sg &1 &8 pifsd
foar S

Options :

1. ¢ QNQFKNZ

2. % PNPFKNZ

3. % QNQKFNZ

4. % NQQFNNP



Question Number : 15 Question Id : 967947419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If VERTICAL =90, YELLOW = 92, then what is the value of RELATION?
Options :

1. % 25

2.9 94

3. % 34

4. % 43

Question Number : 15 Question Id : 967947419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g VERTICAL = 90, YELLOW=92, dl RELATION &1 HIH &1 %?
Options :

1. % 25

2.¥ 94

3. % 34

4. % 43

Question Number : 16 Question Id : 967947420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If cat is dog, dog is cow, cow is donkey, donkey is deer and deer is rabbit, which animal barks?
Options :

1. # dog

2. % cow

3. % cat

4. % deer

Question Number : 16 Question Id : 967947420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

g faceht Hi1 €, Tl 7T 8, TG T 8, 4T fRR0r § SfR feRur W= §, o ®14 91 SiFaR HidhdT 82
Options :

1. % Pl

2.9 1Y

3. % forerit

4. % g

Question Number : 17 Question Id : 967947421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many 6's are there in the given series which are immediately followed by 6 but not immediately preceded by 6?
234656635466646659876662366352635662

Options :
1. %2
2.% 3
3.% 4
4. ¥ 6

Question Number : 17 Question Id : 967947421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 77 oRaa ® U fhd 6 § o 3t a1 A 6 § Afdh 3l Ugd 6 Tal 32
234656635466646659876662366352635662

Options :
1. %2
2.% 3
3.% 4
4. ¥ 6

Question Number : 18 Question Id : 967947422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

How many symbols are there in the given series which are immediately preceded by a number and immediately followed by a letter.
56*CDG%3&FA4RS87+M24#7z1 @

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 18 Question Id : 967947422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 7S e # U foraA forg § o 31 Ugal Ue 3 § 3R 31 a1g # U 3ieR g |
56*CDG%3&FA4RSS8T+M24#721@

Options :
1. *= 1
2.% 2
3.3
4. % 4

Question Number : 19 Question Id : 967947423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raju is taller than Rajat but shorter than Param. Amar is taller than Rajat but shorter than Param. Who is the shortest among them?
Options :

1. # Raju

2. ¥ Rajat

3. ® Param

4. % Amar

Question Number : 19 Question Id : 967947423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TS I5Td ¥ AT 8 Al IRH Y Blel g1 3R I5Td 4 AT § b IRA I BIeT g1 370 I I BT S 82
Options :

1. % I

2. ¥ 5d

3. % URH

4. % 3H

Question Number : 20 Question Id : 967947424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In class XII there are 60 students. Sanjana is placed in XII A she is 5th, in XII B she is in 8th and in XII C her rank is 6th. What is her cumulative
rank in class XII?

Options :
1.¥ 17
2. % 18
3.% 19
4. % 20

Question Number : 20 Question Id : 967947424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HET X1 H 60 B € | TSI DI XII A T W1, 98 50 RIF W 7, XII B T 8 89 RIF W g 3R XII C H 3BT I 631 & | Bl X1 A
ITD! T P T 7?

Options :

1.¥ 17

2. % 18

3.% 19

4. % 20



General Ability2

Group Number : 2

Group Id : 96794722
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Ability2

Section Id : 96794722
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794726
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 967947425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : All whales are fishes.
Statement 2 : No fish is a crocodile.



Conclusion I : No crocodile is a whale.
Conclusion II : No whale is a crocodile.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusion I and II follow

4. % Neither conclusion I nor II follows

Question Number : 21 Question Id : 967947425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy o & pY= feu U 8, foge a1 gl s 1 3R 11 fau 77U §1 3imueh! 39 HUAT &l I 711 8, Y 81 I8 ATHId: J1d 97 3 e Ui
11 3iTuh! 78 iy o & 6 fow e R & @ 19 1, afe g 31, Y feu T o=t # @ srgRur e 21

FYF 1 : gt g wfori B
PFYF 2: Bls Ao TRAE T8l 2

fspy | : IS TRA=S g el B

sy 11: P g FRAS T8l &

Options :

1. # $Had [5HY [ 3IERU Hdl o

2. % Had fHY 11 ST HT &

3. ¢ fpe 1 3R 11 ST SRRV R §

4. % A8 Fpe 1 iR T € 11 SFITRUI HrAT §

Question Number : 22 Question Id : 967947426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : All leaders are good humans.
Statement 2 : All good humans are good orators.



Conclusion I : Some good humans are leaders.
Conclusion II : All good orators are leaders.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusion I and II follow

4. % Neither conclusion I nor II follows

Question Number : 22 Question Id : 967947426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy o & pY= feu U 8, foge a1 gl s 1 3R 11 fau 77U §1 3imueh! 39 HUAT &l I 711 8, Y 81 I8 ATHId: J1d 97 3 e Ui
11 3iTuh! 78 iy o & 6 fow e R & @ 19 1, afe g 31, Y feu T o=t # @ srgRur e 21

HYT 1 - G AdT 3D A B |
YT 2 - HI 3 T 3 JAT I B |

ﬁwélw&r%mﬁm%l

fsh Y 11 : Tt 3= e AT g

Options :

1. ¢ $Had [T5HY [ 3FIERU Hal o

2. % Had fHY 11 ST HT &

3. % fpel 1 3R 11 ST SRRV HRd §

4. % A8 Fpe 1 iR T € 11 SFITRUI R §

Question Number : 23 Question Id : 967947427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question three statements are given, followed by four conclusions, I, II, III and IV. You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1 : Some mangoes are cherries.



Statement 2 : All cherries are fresh.
Statement 3: Some melons are fresh.

Conclusion I : Some mangoes are fresh.
Conclusion II : Some melons are mangoes.
Conclusion III: Some cherries are melons.
Conclusion IV: Some cherries are mangoes.

Options :

1. # Only conclusion I follows

2. % Only conclusion II and III follow
3. % Only conclusion I and IV follow

4. % Either conclusion II or III follow

Question Number : 23 Question Id : 967947427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & 9 pY= feu U §, fo9e 91¢ IR ey 1, 11, 111 3R 1v RT U § | 3Musp! 37 Syl ! I AT 8, Yl 8 I8 JrHd: I1d a9 3
fire ot €11 3ues) g FHifa & @ o few u sl & § oo o, afe &1s §), o feu U ol § & SreRu Rl 8|

YT 1 : TS MR g
HYF 2 g I A |
HYT 3: $S WGo! ol ¢ |

WI:W&WW%I%
5y 11: $& TR S B
F5pY 111: $B R TR 5 |

Ty 1v: $& R M 5|

Options :

1. % $Had [T5HY [ 3FIERU Hdl o

2. % Had FSHY 11 3R 11 TR HRd §
3. ¢ Had Y [ 3R 1V 38R0 1 §

4. % gr sy 11 3 111 SR BT |

Question Number : 24 Question Id : 967947428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the question three statements are given, followed by four conclusions, I, II, III and IV. You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1 : Some tables are chairs.
Statement 2 : All chairs are green.
Statement 3: Some green are red.

Conclusion I : All chairs are red.

Conclusion II : Some red are green.
Conclusion III: Some chairs are red.
Conclusion IV: All green are chairs.

Options :

1. ¥ Only conclusion II follows

2. # Only conclusion II and III follow
3. % Only conclusion I and IV follow

4. % Either conclusion I or III follow.

Question Number : 24 Question Id : 967947428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & 9 pYT feu U §, fo9e a1¢ IR ey 1, 11, 111 3R 1v fRT U § | 3Muep! 377 Syl ! I AT 8, Ul 8 I8 JrHad: I1d a9 3
o gl 811 3mue) g Ffg o & 6 feu e el & @ 1 a1, afe 31 &), af fou T et # & 3R Rt B

BYT 1 : PO Aol HRIAT T
aﬁwézﬁmeﬁ%
HYT3: PO X A g |

st 1 gt pRITT A |
Freep 1: & e B €| .
fSH Y 111 gil@im?ﬂa I

Options :



1. ¥ PHad hY 11 IR0 Hal §

2. % Had (BN 11 3R 11 3IER0 Hd §
3. % $Had fTSHY [ 3R [V IR0 HRd &
4. % gl FTSHY 197 111 SFJAR0T Rl §

Question Number : 25 Question Id : 967947429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option in which the numbers are similarly related as in the given pair.
8:56::

Options :

1. % 5:25

2. % 7:34

3. % 9:81

4. 4:12

Question Number : 25 Question Id : 967947429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 Ao &1 997 B Ford Ty €1 715 Site! 3 9HH ¥U 9 eid g
8:56::

Options :

1. % 5:25

2. % 7:34

3. % 9:81

4.9 4:12

Question Number : 26 Question Id : 967947430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If A means +, B means -, C means X, then find the value of the expression46 A2B3C4="?
Options :



1. * 34
2.% 23
3. % 17
4.4 11

Question Number : 26 Question Id : 967947430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ACA BTG+, BHT S5 -, C P13 § x, Al AT STAA AP 46 A2 B3 C4=2
Options :

1. % 34

2. %23

3. % 17

4. v 11

Question Number : 27 Question Id : 967947431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 'x' means division, '-' means multiplication, '+' means addition and '+' means subtraction, then 3 - 15+ 11) x 8+ 6="7?
Options :

1.#*0

2.9 1

3.% 4

4, % 8

Question Number : 27 Question Id : 967947431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ' BT 3 § U, - HT f g T[0T, + FT SR g TS MR+ BT f g gera, A (3- 15+ 11) x 8+ 6=2
Options :

1.* 0

2.9 1



3.% 4
4. % 8

Question Number : 28 Question Id : 967947432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number.

5 8 | 32

9 6 | 48

T 9 7

Options :
1. % 45
2. % 48
3.¥ 54
4, % 64

Question Number : 28 Question Id : 967947432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ST [T R
5 8 | 32
9 6 | 48
T 9 ?
Options :
1. % 45
2. % 48

3.¥ 54



4. % 64

Question Number : 29 Question Id : 967947433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagram best represent the relationship between Srilankan, Asian and American?
Options :

(©o
(Do

Question Number : 29 Question Id : 967947433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFrafefed # 9 B 91 9 3RE dicidrs, TRATS 3R SRS & sid & Jdy Bl Fad 3T Gidl 82

Options :

(©o
(Do

Question Number : 30 Question Id : 967947434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagram best represent the relationship between Birds, Kiwi and Elephants?
Options :



Question Number : 30 Question Id : 967947434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol & 3 o 91 9 SE Ufary, did 3R SR & o & Taey I Tl 3w] G=Iidl 82

Options :




Question Number : 31 Question Id : 967947435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagram best represent the relationship between Females, Wives and Doctors?
Options :



(o

3. %

©o

Question Number : 31 Question Id : 967947435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FofRed & ¥ D19 91 9 3g Afgansil, uferl iR i & i & Hay B Jad 3w Gl 572

Options :

1. ¢



R(0)e

©o

Question Number : 32 Question Id : 967947436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given Venn diagram find out the number that is common in all the given figures.

Options :
1. %9
2. % 8



3.%3
4.9 1

Question Number : 32 Question Id : 967947436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 71T 3 3G & T8 AT 1d H< ol &1 T8 Tt it H SHIS B

Options :
1. %9
2.% 8
3.%3
4. ¥ 1

Question Number : 33 Question Id : 967947437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¢




s
o,
2. % \“}
3. ®
4. % B

Question Number : 33 Question Id : 967947437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faedl 7 @ & T g a5 I UM &1 gy, T [Ahed 370 diF &1 a8 81 8| 39 ey o1 T &3 off 37 T 3T g |

Options :

1. ¢




3. %

Question Number : 34 Question Id : 967947438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.

—

A
O

@)

A\

O

vV

b 2

Options :




Question Number : 34 Question Id : 967947438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 fAHed BT 997 B S ik UG ¥ 341 UHR ¥ Yafdd g fo JR ¥ 3R UG Ugd Ug ¥ Hafed g

—

VAN
O

O

v

L

vV

b 2

Options :

1L®[_*

2. ¢ Y




Question Number : 35 Question Id : 967947439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Sl 2 b

Options :
1. ¢
2. %

N&




-'\<_

Question Number : 35 Question Id : 967947439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fased &1 999 B S el Ue J I UHR ¥ a&fd § oy UHR ¥ kT Ue Ugd Ue & Hafdd 7

NIV ANEERE

Options :
1. ¥
2. %

\é




-'\<_

4. %

Question Number : 36 Question Id : 967947440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

[ ]:[

- 0 | O

N

!

Options :

Jet

P
r
O

[

I
&

2. ¥

[




4.

Question Number : 36 Question Id : 967947440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

A

x| = %>

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 fAdHed T 997 B S ik UG ¥ 341 UHR ¥ Yafdd g o JR ¥ ORI UG Ugd Ug ¥ Hafed g

B

=

! —- 0
Options :
2
LelT 9
A
el ©
A
1 B

]

O




A

] i

Question Number : 37 Question Id : 967947441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are three different positions of a dice. Find the number of dots on the face opposite to the face bearing 3 dots.

Options :
1. % 4
2.%5
3.6
4. % 1

Question Number : 37 Question Id : 967947441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I v R ot i fufaat 12 B 3 figsit are waw & faudia ara e WR fagait @t TRe J1d #R |



Options :
1. % 4
2. %5
3.6
4. % ]

Question Number : 38 Question Id : 967947442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many maximum number of rectangles are there in the given question figure?

Options :
1.9 13
2. % 14
3. % 15
4. % 16

Question Number : 38 Question Id : 967947442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS U ST B STl 1 Sifrmad e fahat 82




Options :
1.9 13
2. % 14
3. % 15
4. % 16

Question Number : 39 Question Id : 967947443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figures complete the image pattern of the question figure?

Options :




Question Number : 39 Question Id : 967947443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad o ¥ o W SR 3efa Uy pfa & Bfa e & 1 et 72

Options :




Question Number : 40 Question Id : 967947444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Options :

2. ¥




Question Number : 40 Question Id : 967947444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS IR 3Tl H F, I 3ApTal T Tg B oG Uy 3pfa i afaRa g

Options :

\

3- % | )




General Awarenessl

Group Number : 3

Group Id : 96794723
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awarenessl

Section Id : 96794723
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794727
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 967947445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following harvest festivals is also the name of a dance form?
Options :

1. # Baisakhi

2. % Pongal



3. % Bihu
4. % Gudi Padwa

Question Number : 41 Question Id : 967947445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o @ &9 91 TAIed (81d¥e HhiRead) Td =4 &1 H Am 82
Options :

1. % ST

2. % GiTe

3.+ fg

4. % Tel gl

Question Number : 42 Question Id : 967947446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Buland Darwaza and Panchmahal were built by

Options :

1. ¥ Muhammad Ali Shah
2. ¥ Akbar

3. # Shah Jahan

4. * Babur

Question Number : 42 Question Id : 967947446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gaa adTell 3R UaHgTd GRT Y 7T 3|
Options :

1. ® HgHc 3fcl A8
2. ¢ 3B
3. % QMg gl




4. % 9l

Question Number : 43 Question Id : 967947447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In 1577, built the Swarna Mandir.
Options :

1. ¥ Guru Ram Das

2. % Mabharaja Sawai Jai Singh II

3. % Rajaraja I

4. # Vimal Shah

Question Number : 43 Question Id : 967947447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1577/, S %quf e &1 i fea)
Options :

1. ¥ T[S MH Q™

2. % HERISN HdTs &g g 11

3. % XNIRIST 1

4, % faud A8

Question Number : 44 Question Id : 967947448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Indian dance style requires talent in both dancing and singing.
Options :
1. * Manipuri
2. % Kuchipudi
3. % QOdissi
4, % Kathak



Question Number : 44 Question Id : 967947448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRAR T et & T 3R T g1 & UfaHT St 31a=adhdi it o |
Options :
1. % Aot
2. ¥ RS
3. % affedl
4, % HYdh

Question Number : 45 Question Id : 967947449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a method of remittance?
Options :

1. # Draft

2. # Real-Time Gross Settlement (RTGS)

3. % National Electronic Funds Transfer (NEFT)

4. ¥ Overdraft

Question Number : 45 Question Id : 967947449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrofafed & & o 1 Ivo o1 [y 78t &2
Options :

1. % gIuc

2. % hId g d UM (RTGS)

3. % PG getacii-eh Y 3FRUT (NEFT)
4. ¢ JHRSUC



Question Number : 46 Question Id : 967947450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tax Revenue falls under which component of government budget?
Options :

1. ¥ Revenue Receipts

2. # Revenue Expenditure

3. # Capital Receipts

4. % Capital Expenditure

Question Number : 46 Question Id : 967947450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R IORG IRBR] ToIc & [ gedh b Sfaifd T 52
Options :

1. ¢ oI grfeeri

2. ® N Y

3. % Yoil Ufteri

4. % GoINTd o0

Question Number : 47 Question Id : 967947451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When total receipts exceed expenditure, the fiscal policy creates

Options :

1. % Equilibrium
2. ® Deficit

3. % Surplus

4. ¥ Difference

Question Number : 47 Question Id : 967947451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e Sl UGt o9 ¥ 3fe g1 ot 8, o) ot Nig ifa T ]
Options :

1. * Her

2. % Yl

3. ¢ SHIURY

4. % M

Question Number : 48 Question Id : 967947452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consumption goods and services (C) + Gross Investments (I) + Government Purchases (G) + (Exports (X) — Imports (M) )=
Options :

1. ¥ Gross Domestic Product

2. # Net Domestic Product

3. % Gross National Product

4. # Net National Product

Question Number : 48 Question Id : 967947452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUHIT gt SR Jarsft (C) + Thd A% (1) + WBRI WIS (G) + (Fafd (x) - smard (m) =
Options :

1. ¢ GHd O IMIG

2. % fgd <=itg Idre

3. % Johd APY IdQ

4. % YgIP IAG

Question Number : 49 Question Id : 967947453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The Reserve Bank of India was nationalized on
Options :

1. * IstJune, 1946

2. % Ist January, 1949

3. % st January, 1947

4. ® 1st June, 1945

Question Number : 49 Question Id : 967947453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Retd b &1 ASaaun ! foram T T
Options :

1. #® 1Y, 1946

2. ¢ | SFaRT 1949

3. % | OHaRT 1947

4, % 19, 1945

Question Number : 50 Question Id : 967947454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the acceleration responsible for circular motion called?
Options :

1. % Rotational force

2. % Central force

3. % Centripetal force

4. # Centrifugal force

Question Number : 50 Question Id : 967947454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qiTg T & foTE STRERA @Rl &1 &1 HEd 87

Options :



Question Number : 51 Question Id : 967947455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is applied to inanimate objects.
Options :
1. % Tranquilizers
2. ¥ Disinfectants
3. % Analgesics
4. ¥ Antibiotics

Question Number : 51 Question Id : 967947455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fooffa aegaff R ar glaT 81

Options :

1. * YR

2. ¢ A&ipTHS

3. % 9E-TeR

4. % giaoifas

Question Number : 52 Question Id : 967947456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which gas is released when yeast begins to feed on sugars while making a bread dough?
Options :

1. ¥ Carbon dioxide



2. % Oxygen
3. % Nitrogen

4. % Carbon monoxide

Question Number : 52 Question Id : 967947456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S BT 3T T THY o THR T TR HROT T & o 19 T 71 S gt 82
Options :

1. ¥ Pla SRS

2. % o

3. % A13gIoH

4. % Bl HHIRIES

Question Number : 53 Question Id : 967947457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a part of the nose?
Options :

1. # Vestibule

2. % Olfactory chamber

3. ¥ Mesethmoid Cartilage

4. ¥ Pharynx

Question Number : 53 Question Id : 967947457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAgferfad & ¥ o9 I1 916 &1 HFT T81 82

Options :

1. % 9Eiqd

2. % grorada



3. % AAYHIgS IURY
4. ¢ T (BRe)

Question Number : 54 Question Id : 967947458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an animal tissue?
Options :

1. #® Vascular tissue

2. ¢ Epithelial tissue

3. # Dermal tissue

4. ® Ground tissue

Question Number : 54 Question Id : 967947458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafared & 9 o1 a1 umf Saw 32
Options :

1. % Hag-l SHdsb

2. ¥ JUD Al Hddh

3. % TU SHdd (SHA fexg)

4. % r3e fexg.

Question Number : 55 Question Id : 967947459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Density of Population is the ratio between
Options :

1. #® the number of births to the number of deaths
2. % the number of women to the number of men

3. ¥ the number of people to the size of land



4. ®* the number of people to the number of houses

Question Number : 55 Question Id : 967947459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SERSAT BT g & &9 &7 U 5|
Options :

1. % S D1 AT Y GG Dl AT

2. % Higarrell i TBAT A g3l DI -

3. ¢ YW & HR o fo1T il &t g

4. % QNN 1 TBAT Y TR I A=A

Question Number : 56 Question Id : 967947460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a geographical factor influencing the distribution of population?
Options :

1. ® Climate

2. % Landforms

3. % Availability of water

4. ¥ Urbanization

Question Number : 56 Question Id : 967947460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRId & T DI A1 SHReAT & faaRur & THTId B+ arar HIiieis RS o 67
Options :

1. % S[fdrg

2. % JYA=7

3. % UM Bl IuAUd

4. ¥ QERIBI




Question Number : 57 Question Id : 967947461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bajra grows best in which soil?

Options :

1. ¥ Black soil

2. % Alluvial soil

3. #® Laterite soil

4. % Red soil

Question Number : 57 Question Id : 967947461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SToRT {9 FaT & Tay 3T 31T 62
Options :

1. ¢ Pail Jar

2. % Sqlg gal

3. % qIRIge gar

4. % A Hel

Question Number : 58 Question Id : 967947462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which canal connects the Atlantic Ocean in the east to the Pacific Ocean in the west?
Options :

1. # Suez Canal

2. ¥ Panama Canal

3. % Stockholm Canal

4. # (Canals of Bruges

Question Number : 58 Question Id : 967947462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HIF I TR gd | sfedifed HeRFR &I UfyH § U= HeRITR ¥ Sisd! 82
Options :

1. % W TeR

2.« UATHT e

3. % Wb e

4. % N P TEY

Question Number : 59 Question Id : 967947463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Match the explorers to the work done by them:

1. Introduced China and other Asian A. WascoDaGama
countries to Europe

Founded Cape of Storms Marco Polo
Discovered Mew Zealand
Established Quebecin Canada

Set sail to find India in 1497

Samuel de Champlain
Bartolomeu Dias

AN Rl
mB|nP

Abel Janszoon Tasman

Options :

1. # 1-A, 2-E, 3-B, 4-C, 5-D
2. ¥ 1-B, 2-D, 3-E, 4-C, 5-A
3. % 1-B, 2-E, 3-C, 4-D, 5-A
4. % 1-A, 2-B, 3-C, 4-D, 5-E

Question Number : 59 Question Id : 967947463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



WIAFATHT T I3k CaRT kU 1T F1 & o=

1 TR =T HR e vieras e & A. TREHIE AT
ETEE TG

2. &Y 3T TeT# il gar B. I Gl

3. TSIOIS &l Wiet c. dA3rers e

4. FHeATST#H FAE TATY fham D. RCIAHR AT

5. 1497 ¥ TR I Tl F foiT W= ge E. HTeIel St A

Options :

1. # 1-A, 2-E, 3-B, 4-C, 5-D
2. ¥ 1-B, 2-D, 3-E, 4-C, 5-A
3. % 1-B, 2-E, 3-C, 4-D, 5-A
4, % 1-A, 2-B, 3-C, 4-D, 5-E

Question Number : 60 Question Id : 967947464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who designed and built the telescope with increasingly higher magnifying power, in 1608-09?
Options :

1. # Alexander Graham Bell

2. # Thomas Edison

3. % Qalileo Galilei

4. ¥ Benjamin Franklin

Question Number : 60 Question Id : 967947464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1608-09 H, 3o AL &l & 1Y GRa- BT foure 3R Fufor farem farar um

Options :



1. % Uoioelex UTeH od
2. % YIAY TS

3. ¢ Ticitferay Aferet

4. % SSfAA Shapferd

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 61 Question Id : 967947465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

General Awareness2

4
96794724
0

0

No

No

0

20

No

General Awareness?2

96794724
1

Online
Mandatory
20

20

20

Yes

1
96794728
Yes



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The (British) East India Company was established on

Options :

1. ¥ 31 December 1600
2. # 25 December 1600
3. % 20 December 1600
4. % 30 December 1600

Question Number : 61 Question Id : 967947465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(Fsfean e gfear ot ot =umm Frgs R
Options :

1. ¢ 31 &R 1600

2. % 25 AR 1600

3. % 20 fdHeR 1600

4. % 30 fdgaR 1600

Question Number : 62 Question Id : 967947466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who built the Vasai fort in Mumbai?
Options :

1. # Mauryas

2. % Mughals

3. ¥ Portuguese

4. ¥ Marathas

Question Number : 62 Question Id : 967947466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Has o 99 gl fhe a=faman om

Options :

Question Number : 63 Question Id : 967947467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The third Anglo-Maratha war was fought in which year?
Options :

1. % 1827

2. % 1803

3. % 1819

4, ¥ 1817

Question Number : 63 Question Id : 967947467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR S1-TRT13T & ford oy | T 7131 U1
Options :

1. # 1827

2. % 1803

3. % 1819

4, ¥ 1817

Question Number : 64 Question Id : 967947468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'Lessons Life Taught Me, Unknowingly' is an autobiography of




Options :

1. % Javed Akhtar
2. % Anupam Kher
3. # Dev Anand

4. # Ayushmann Khurana

Question Number : 64 Question Id : 967947468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G AW <ic |, SIS B SHDUT G|
Options :

1. % Sflde 3R&R

2. ¢ 3IUH WR

3. % ¢4 3fFFiq

4. % SIYCHTT QGRIAT

Question Number : 65 Question Id : 967947469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these personalities have received the Padma Bhushan?
Options :

1. #* Shri Shinzo Abe

2. % Kangana Ranaut

3. ¥ Ram Vilas Paswan

4. % Pranab Mukherjee

Question Number : 65 Question Id : 967947469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
20 ¥ for safaaea &1 U=t oo fiyer g2

Options :



1. % off RIS o9

2. % HIETRUMAd

3. ¢ JHAA grgaH
4. % YU @i

Question Number : 66 Question Id : 967947470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the founder of Serum Institute of India?
Options :

1. ¥ Adar Poonawalla

2. % Dr. Cyrus Poonawalla

3. # Villoo Poonawalla

4. % Soli A. Poonawalla

Question Number : 66 Question Id : 967947470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRT fcee it Sfear &1 IRIUS S &2
Options :

1. # 3{QR YATdrel

2. ¢ . I YAl

3. % fooe] gATATe

4. % Tl T GATITe

Question Number : 67 Question Id : 967947471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the first woman gymnast to represent India at an Olympic Games?
Options :

1. # Aruna Reddy



2. % Meghana Gundlapally Reddy
3. ¥ Mantu Debnath
4. ¥ Dipa Karmarkar

Question Number : 67 Question Id : 967947471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3t @l # HRd &1 Ul H el g afgar fome HiF 82
Options :

1. % SBUMS!

2. % T gayed! XS

3. % HE Gy

4. ¢ U HHBR

Question Number : 68 Question Id : 967947472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Article gave special status to Jammu and Kashmir to have a separate constitution, a state flag and autonomy over the internal
administration of the state?

Options :

1. # Article 350
2. ¥ Article 370
3. % Article 371
4. #® Article 351

Question Number : 68 Question Id : 967947472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oy ST A OTHY 3R HRHR B e T, T ol 3R T & AR TR TR WA o (o fa=iy goif feam
Options :

1. % 396 350

2. ¥ 3G 370




3. % 3Jw¢ 371
4. % 3G 351

Question Number : 69 Question Id : 967947473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which game is scheduled to be held in Birmingham in 20227
Options :

1. ¥ The 2022 Commonwealth Games

2. % The World Games 2022

3. % The 2022 Winter Olympics

4. ® The 2022 Winter Paralympic

Question Number : 69 Question Id : 967947473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2022 H Sftfg | o9 91 Qd SmNfSd g1 arer 82
Options :

1. ¢ T 2022 HIATAR TR

2. % T % IR 2022

3. % g 2022 fde siafis

4. ® g 2022 fdex Wit

Question Number : 70 Question Id : 967947474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Name the cyclone that hit Mumbai in 2021.
Options :

1. #® Cyclone Yasa

2. ® Cyclone Vayu

3. # Cyclone Yaas



4. ¥ Cyclone Tauktae

Question Number : 70 Question Id : 967947474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 IhATd T TH Jargu ot 2021 H Jas I TH AT
Options :

1. # <hdld Il

2. % <bdld dIY

3. % dhdld gy

4. ¥ IghdTd A3

Question Number : 71 Question Id : 967947475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the highest active volcano in Europe, that erupted four times within a span of six days.
Options :

1. # Mount Vesuvius

2. % Mount Vulture

3. % Mount Etna

4. ¥ Mount Elbrus

Question Number : 71 Question Id : 967947475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRIY & Y4 Sd Hichd SATargdl &1 A1 Fargy, Sl ©8 il & Yok IR TR fawpifed gar|
Options :

1. % Yooy udd

2. % geeR Udd

3. ¢ TeAT Uad

4. % Uog[¥ Udd




Question Number : 72 Question Id : 967947476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
On 26 November, 1949, the constitution of India was

Options :

1. ¥ adopted
2. % written
3. #® reviewed

4. ¥ signed

Question Number : 72 Question Id : 967947476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

26 TSR, 1949 DI HRT BT JALUTT T YT
Options :

1.« U0

2. % ferar

3. % gHifad

4. % GEI&N

Question Number : 73 Question Id : 967947477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Jawaharlal Nehru introduced the objective resolution in

Options :

1. % The legislative assembly
2. ¥ The constituent assembly
3. % The Parliament

4. # The legislative council

Question Number : 73 Question Id : 967947477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

SIATERATd g% A T 3TRT UG ORI fohaT|
Options :

1. % fay= gqur

2. ¢ TiAYU™ T

3. % ¥4q

4. % fau uRug

Question Number : 74 Question Id : 967947478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which amendment extended the deadline for the cessation for the reservation of seats in the Lok Sabha and state legislatures for members of
Scheduled Castes and Scheduled Tribes?

Options :

1. #® The Constitution (100th Amendment Act), 2015
2. ® The Constitution (103rd Amendment Act), 2019
3. % The Constitution (104th Amendment Act), 2020
4. ® The Constitution (102nd Amendment Act), 2018

Question Number : 74 Question Id : 967947478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@W?ﬁ&aﬁﬁaaﬁaﬁ?@ﬂﬁﬁfﬂﬁﬁ%ﬂ&@%ﬁmaﬁwm@?wﬁwmﬁﬁxﬂﬁﬁwwﬁw@ﬁw
CrARCAR

Options :

1. % "fay™ (100af =Y MfAfFEm), 2015
2. % Ffaem (1031 T=RNeA SifAfAaw), 2019
3. « fau™ (10491 TRMEA i), 2020
4. % Gfau™ (10281 FROYA fAFTH), 2018



Question Number : 75 Question Id : 967947479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The original Constitution of India was handwritten by
Options :

1. # Dr Sachchidananda Sinha

2. % Bhimrao Ramji Ambedkar

3. ¥ Mohandas Karamchand Gandhi

4. ¥ Prem Behari Narain Raizada

Question Number : 75 Question Id : 967947479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URd &1 o Ifae™ ANEENINIEERRIN
Options :

1. % 8 gfergH— R

2. % HHRTG IHGl 3TFIEHR

3. % HIgAaN HRHd< el

4.« U9 f9gRY TR0 Il

Question Number : 76 Question Id : 967947480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country does not have an official national sport?
Options :

1. ¥ India

2. % England

3. #® Australia

4. % Russia

Question Number : 76 Question Id : 967947480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
e 3w o fta A 8 2
Options :

1. ¢ HRd

2. % U8

3. % 3fiecfer

4. %Y

Question Number : 77 Question Id : 967947481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What sport is Sathish Sivalingam associated with?
Options :

1. # Archery

2. % Wrestling

3. ¥ Weightlifting

4. ¥ Boxing

Question Number : 77 Question Id : 967947481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tt Rafeim frg Td ¥ T 88 32
Options :

1. % eefden

2. % Pl

3. ¢ YR

4. % TFBETS

Question Number : 78 Question Id : 967947482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Where will the 2022 Winter Olympics be held?
Options :

1. ¥ Shanghai

2. ¥ Beijing

3. ¥ Hong Kong

4. % Macau

Question Number : 78 Question Id : 967947482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2022 fdex Siicifte Fel smaford foram smam?
Options :

1. % 18

2. ¢ ST

3. % GBI

4. % HDI3

Question Number : 79 Question Id : 967947483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is not an Indian Archery player?
Options :

1. # Jayanta Talukdar

2. ¥ Soma Biswas

3. # Limba Ram

4. # Tarundeep Rai

Question Number : 79 Question Id : 967947483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifed o @ o YR ugfden et 781 82

Options :



1. # SOd AJHaR
2. ¢ i foarg
3. % foraTR™

4. % TBUGIY A

Question Number : 80 Question Id : 967947484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FIFA World Cup 2022 will be held in
Options :

1. # India

2. % Ttaly

3. % China

4. ¥ Qatar

Question Number : 80 Question Id : 967947484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fay o7 2022 # amiferd febar S|
Options :

1. #® HRd

2. % geat

3. % T

4. ¥ DA

Arithmetic Abilityl

Group Number : 5
Group Id : 96794725
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Abilityl

Section Id : 96794725
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794729
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 967947485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange the fractions in ascending order:
4/8,7/12,12/16, 15/29 and 2/5

Options :

1.9 2/5,4/8,15/29, 7/12, 12/16
2. % 2/5,4/8,7/12,15/29 , 12/16
3. % 2/5,4/8,15/29, 12/16, 7/12
4. % 2/5,4/8,12/16, 15/29, 7/12

Question Number : 81 Question Id : 967947485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
3IM T SRIG! hH H AR DY:
4/8,7/12, 12/16, 15/29 3R 2/5

Options :

1. % 2/5,4/8,15/29, 7/12, 12/16

2. % 2/5,4/8,7/12, 15/29 , 12/16

3. % 2/5,4/8,15/29, 12/16, 7/12

4. % 2/5,4/8,12/16, 15/29, 7/12

Question Number : 82 Question Id : 967947486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Evaluate 4303.5 +430.35 +43.035 + 4.3035 + 0.43035
Options :

1. % 4817.1865

2.9 4781.61885

3. % 4178.61885

4. % 4187.61885

Question Number : 82 Question Id : 967947486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HQ_"EITHV_"T BN 4303.5 + 430.35 + 43.035 + 4.3035 + 0.43035
Options :

1. * 4817.1865

2. ¥ 4781.61885

3. % 4178.61885

4, % 4187.61885

Question Number : 83 Question Id : 967947487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Simplify: (7/3 + 6/11 of 3/19 x 13/4 + 8/45)/(9/5 + 4/17 of 5/2 x 3/2)
Options :

1. % 12356/24125

2. % 123561/13451

3. % 245632/12341

4. % 2377375/22032

Question Number : 83 Question Id : 967947487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁ (7/3 = 6/11 of 3/19 x 13/4 + 8/45)/(9/5 + 4/17 of 5/2 x 3/2)
Options :

1. # 12356/24125

2. % 123561/13451

3. ¥ 245632/12341

4. % 2377375/22032

Question Number : 84 Question Id : 967947488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simplify: 11.5 +9.25 + 0.45 - 0.2525 + 0.005 0of 0.01
Options :

1. ¥ -5017.94

2. % 5017.94

3. % -5071.49

4. % -5710.94

Question Number : 84 Question Id : 967947488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁ 11.5+9.25+0.45-0.2525 + 0.005 of 0.01
Options :



1. ¥ -5017.94
2. % 5017.94
3. # -5071.49
4. % -5710.94

Question Number : 85 Question Id : 967947489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average score of a cricketer for 20 matches is 50 runs. If the average score for first 15 match is 40 runs then what is the average score of the
remaining matches?

Options :
1. ® 60
2. % 40
3. ¥ 80
4. % 50

Question Number : 85 Question Id : 967947489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T bR & 20 Bl 7 A WK 50 3 81 S Ued 15 Tl &1 SfIRId WhIR 40 37 ¢ <Y A% il 7 3 WHR 1 82
Options :

1. *® 60

2. % 40

3. ¥ 80

4. % 50

Question Number : 86 Question Id : 967947490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ten people went to a hotel for taking their meal. Nine of them spend Rs. 200 on their meals and the tenth Rs. 9 more than the average
expenditure of all the ten people. What is twice the total money spent by them?

Options :



1. ® 2010
2. ¥ 4020
3. # 1050
4. % 2000

Question Number : 86 Question Id : 967947490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AT TP Bled B JHTJH M| 378 I Y 39 HISH TR 200 TUT T F3d & 3R gqai Gt o9 anTl & 3id 1 ¥ 9 3UT i T
BT g | SIh GRT T DI 718 o AT HT &l AT &7 82

Options :

1. % 2010

2. ¥ 4020

3. % 1050

4. % 2000

Question Number : 87 Question Id : 967947491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are 40 students in a hostel. Due to the admission of 8 new students the expenses of the mess increased by Rs. 42 per day. The average
expenditure per head diminished by Rs. 2. What was the original expenditure of the mess?

Options :

1. # Rs. 1380/ day
2. % Rs. 345/day
3. % Rs. 1600/ day
4. ¥ Rs. 690/day

Question Number : 87 Question Id : 967947491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS JETEN H 40 TH g1 8 U BH & T I, BY &1 Y 42 TYT Ui 37§ 9¢ 711 ufa sufaa siigd oo § 2 UT &) ot 3ms | 39 &1
ol 99 1 Y17




Options :

1. % 1380 ¥y faa
2. % 345 3Ug/feA
3. % 1600 30U fgq
4. ¥ 690 3T/

Question Number : 88 Question Id : 967947492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If x% of x is 529. What is x?

Options :

1. ¥ 230

2. % 23

3. % 2300

4. % 231

Question Number : 88 Question Id : 967947492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e x BT x% 529 51 x T G2

Options :

1. ¥ 230

2. % 23

3. % 2300

4. % 231

Question Number : 89 Question Id : 967947493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of a product was decreased by 5%. This resulted in an increase of numbers sold by 25%. What is the effect on total revenue?
Options :

1. % 31.58% Decrease



2. % 31.58% Increase
3. % 18.75% Increase
4. % 18.75% Decrease

Question Number : 89 Question Id : 967947493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP UG D T H 5% DI HH B 715 | $UD URUIMRGET [6h1 H 25% B IfG §5 | P o TR F1 THIG TSl 62

Options :

1. % 31.58% hdl
2. ¥ 31.58% dfa
3. ¥ 18.75% dig
4. % 18.75% Al

Question Number : 90 Question Id : 967947494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15% of the inhabitants of a village died of Corona. A panic set in and 25% of the remaining people left the village. The population is 6375 now.
What number of people would have been left if 30% instead of 25 % people had left the village out of panic?

Options :

1. % 70000
2. % 5950
3. % 6000
4. % 5500

Question Number : 90 Question Id : 967947494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T11d B 15% 3T BRI Y R TS | Th Sgd tha TS 3R AW 25% v 3 71d BYs faarn| S 3@ 6375 21 32 25% & §6d 30%
AT S8 RId ¥ Tid ¥ I SI1d d fdhaq a1 82 8id?

Options :

1. % 70000




2. % 5950
3. # 6000
4. % 5500

Question Number : 91 Question Id : 967947495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During first year the population of a town increased by 17% and in the second year it decreased by 11%. From third to 5th year, the population
decreased year on year by 33.33%. The population at the end of fifth year is 10413, what is the total population at the inception of first year?

Options :

1. ¥ 33750
2. % 30000
3. % 40000
4. % 43750

Question Number : 91 Question Id : 967947495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UEd Y & SR U 6% & SFEReA | 17% B IfG 83 3R gaR a8 H 11% 1 HHI g3 | AR I 59 I8 adp, STae # a¥ &R ay 33.33
TR &1 HHT 3113 8 | Tiad ay & 3fd W SHURAT 10413 8, Uga a8 B! H3MTd H il S-wedT fbd-l g2

Options :

1. ¥ 33750

2. % 30000

3. % 40000

4. % 43750

Question Number : 92 Question Id : 967947496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A dishonest dealer sells his goods at cost price but uses a weight of 975 gm for 1 kg. He uses a 1025 g weight to buy that 1 kg. What is his gain
percentage?

Options :



1. # 5.70 percent
2. % 10.00 percent
3. % 5.00 percent
4. ¥ 5.13 percent

Question Number : 92 Question Id : 967947496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP SSHM AMURT 30 9% P AN Hed WR 99T & o 1 kg & [T 975 gm ol &1 SUTNT T 81 98 39 1 kg Bl Wie & fag
1025 ¢ I T START HRT & | ITHT Y UI=Id 1 82
Options :

1. % 570 gfa=rd
2. % 10.00 Ufa=rd
3. % 5.00 Ufawrd
4. 5.13 gfa=rd

Question Number : 93 Question Id : 967947497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper purchased 120 kg of Rs. 55 per kg sugar and mixed it with 70 kg of Rs. 60 per kg sugar. At what price should it sell to make a
profit of 27%?

Options :

1. % Rs. 70.51

2. % Rs. 73.025
3. ¥ Rs. 72.19

4. % Rs. 75

Question Number : 93 Question Id : 967947497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GHMER 7 55 BT U kg TR 120 kg F TS 3R I¥ 60 TTT U kg = B 70 kg &b 1Y AR 27% 1 @1 31fofd v & forw
39 ford e R ST 91 E?




Options :

1. % 70.51 ®4UQ
2. % 73.025%UC¢
3.9 72,19 %040
4, % 753500

Question Number : 94 Question Id : 967947498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man sold two flats for Rs. 675000. The value of the flats are equal. He gains 15% on one flat while he looses 15% on the other. How much
does he gain or loose in the entire transaction?

Options :

1. # 10125 profit
2. % 18929.3 loss
3. % 0 profit or loss
4. % 15537.08 loss

Question Number : 94 Question Id : 967947498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3MTEHT A &1 TRle 675000 FUT H 9| Tl &1 Hed Ueh THH & | 39 Th AT TR 15% BT ATH BT § STaid gk IR 3 15% &1 g1 gl
B R -3 H I e ary a1 81 Bt 82

Options :

1. % 10125 @TH

2. % 189293 B
3. % O Y 18I+
4. ¥ 15537.08 1A

Question Number : 95 Question Id : 967947499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If p:q =7/11, what is the value of (9p+13q)/(5p+17q)?



Options :
1. # 100/111
2. % 103/111
3. % 7/11
4. % 13/17

Question Number : 95 Question Id : 967947499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i p:q=7/11, AN (9p+13q)/(5p+17q) T HIT T 82
Options :

1. * 100/111

2.9 103/111

3. % 7/11

4. % 13/17

Question Number : 96 Question Id : 967947500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The salaries of P, Q and R are in the ratio 3 : 4 : 11. If they get increments of 30%, 25% and 5% then what is the new ratio of their salaries?
Options :

1. % 39:5:231

2. %100:111:231

3.9 78 :100: 231

4, % 231:100: 87

Question Number : 96 Question Id : 967947500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P,Q3RRBIAAT3: 4: 11 & AIAId H g1 Tf I8 30%, 25% 3R 5% P! Ifa: FHe! §, A S a1 o =141 SJUTd &1 &2
Options :

1. ® 39:5:231




2.% 100 : 111:231
3.% 78 :100: 231
4. % 231:100: 87

Question Number : 97 Question Id : 967947501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X and Y are two alloys of gold and silver prepared by mixing metals in the ratio 5 : 2 and 7 : 3 respectively. If 40% of alloy X and 60% of alloy
Y are taken to prepare a third alloy Z, what is the ratio of gold and silver in C?

Options :

1. % 247 :103
2. % 69:31
3. % 74:26
4. % 68:32

Question Number : 97 Question Id : 967947501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 3R Y T 3R Il Bt & fHrenqe & S s 5 2 3R 7: 3 & 3J0Td H u1qan &1 fdiex dOR o1 718 81 afe U Ry g z ur
R P T ST X BT 40% SR TG Y BT 60% foram S &, df ¢ T T 3R Tl o7 SuTd o1 82

Options :

1.9 247 :103

2. % 69:31

3. % 74:26

4. % 68:32

Question Number : 98 Question Id : 967947502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The electricity bill has both fixed and variable components. In a month 575 units were consumed as a charge of Rs. 3000 and in second month
700 units was consumed at a charge of Rs. 4250. If 650 units are consume in third month, what will be the electricity bill (in Rs.)?

Options :



1. ¥ 3750
2. % 3800
3. % 3850
4. * 3900

Question Number : 98 Question Id : 967947502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faorett fore o fRR 3R gRkad-T=id Gl U 81d & | Th el | 3000 $UY & Y[eb & U H 575 IhIs bl WU DI T3 AR W A A
4250 SUU & Yeb B TY H 700 IHTS DI WY B T3 | fS TR A T 650 IPTs ! WU il g, df fororal! o1 foet (FUT o) o1 gRm?
Options :

1. ¥ 3750

2. % 3800

3. % 3850

4. % 3900

Question Number : 99 Question Id : 967947503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The compound interest and simple interest on a sum of money for 1 years is 800. The rate of interest is 8%. The difference between the
compound interest and the simple interest for 3 years will be.

Options :
1. * 19.712
2. % 800
3. % 150
4.+ 197.12

Question Number : 99 Question Id : 967947503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬂﬂﬁfﬂﬂﬁ%ﬁmmmaﬁ?www 800 & | SOl BT &R 8% g | 3 TN P Tshgfg TSl 3R AR TS b &1 BT 3R
|



Options :
1. * 19.712
2. % 800
3. % 150
4.+ 197.12

Question Number : 100 Question Id : 967947504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The rate of simple interest is 10% p.a. What will be the annual instalment that will discharge a debt of Rs. 1350 due in 2 years?
Options :

1. ¥ 771.43

2. % 800

3. % 790

4. % 780

Question Number : 100 Question Id : 967947504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR TS B &= Ul a¥ 10% & | 1P fohed o BT S 2 I H 1350 $UT & Dol BT DT Fdg B
Options :

1. ¥ 771.43

2. % 800

3. % 790

4. % 780

Arithmetic Ability2

Group Number : 6
Group Id : 96794726
Group Maximum Duration : 0



Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Arithmetic Ability2

Section Id : 96794726
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794730
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 967947505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The amount Rs. 1400 is divided between X and Y in such a fashion that the amount that X has after 6 years is equal to the amount that Y has
after 8 years. The rate of compound interest is 4% p.a. What is half of the amount that Y gets?

Options :

1. ¥ Rs. 336.28
2. % Rs. 436.28
3. * Rs. 672.56
4. % Rs. 1063.72

Question Number : 101 Question Id : 967947505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

1400 TTT BT AR BT X 3R Y S o1 39 YHR UG fpar a1 8 7 6 a¥ a1g X & U Sl AR 8 I8 8 I8 & &I Y I AR P SRR 3
Tohgfg TS Bl &2 U T8 4% B 'Y 1 UT B4 aTelt 0F7 b7 311 fpa 82

Options :

1. ¥ 336.28 ¥UQ
2. % 436.28 ¥UU
3. % 672.56 ¥UUQ
4. % 1063.72 24U

Question Number : 102 Question Id : 967947506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mr. Giri invested two sum of money in schemes M and O. The compound interest offered is 6% p.a. and 8% p.a. respectively. If the total interest
accrued is the same in both the schemes after 2 years and the total money invested is Rs. 32000 then what is the amount invested in O?

Options :

1. ¥ Rs. 16000.65
2. % Rs. 8729.87
3. % Rs. 8753.34
4. ¥ Rs. 13638.62

Question Number : 102 Question Id : 967947506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot Y =1 <1 IR oY Aiorreit M SR 0§ a1 fosan | fgam S aren ashgia sarst =T Ufd a9 6% 3R Ufd ay 8% Ufd oy § | afe 2 auf &
q1E a1 ArerTeil & ifold T sarel 90 g SR 9= &1 718 a M 32000 FUT g df 0 & fawr & 18 A fhe1 82

Options :

1. % 16000.65 24U
2. % 8729.87%UUY
3. % 8753.34%UU
4. ¥ 13638.62 >UUQ




Question Number : 103 Question Id : 967947507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mac on his tour travels first 160 km at 40 kmph and the next 250 km at 60 kmph. What is the average speed of the last 300 km?
Options :

1. % 55.55 km/h

2. % 5538 km/h

3. %® 53.73 km/h

4. % 43.73 km/h

Question Number : 103 Question Id : 967947507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AP 3T SR TR TBA 160 km 40 kmph 3R 3T 250 km 60 kmph BT 7T T T HIAT & | 34T 300 km P 3G Tf 1 82
Options :

1. % 55.55 km/h

2. % 5538 km/h

3. %® 53.73 km/h

4. % 43.73 km/h

Question Number : 104 Question Id : 967947508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aman is trying to cover a distance of 24 km. After walking for 1 hour and 30 mins, the distance covered by him was 4/7 of the remaining
distance. What was his speed in meters per minute?

Options :

1. ¥ 96.97 m/min
2. % 969.69 m/min
3. % 9.696 m/min
4. % 98.98 m/min

Question Number : 104 Question Id : 967947508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3 24 forarfier &1 g8 T HA I HIRR PR IQT 7| 1 HS 30 e Te & §1e, IUP gRI T B T8 g3 AW g &1 4/7 | Hex ufa
foere o Iget i &1 o

Options :

1. ¥ 96.97 Hiex/fie
2. % 969.69 Hiex /e
3. % 9,696 Hicy/[HC
4. % 98.98 Hiex/fiAe

Question Number : 105 Question Id : 967947509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arun walks at a speed of 5 kmph. He misses his train by 6 minutes. If he walks at a speed of 5.5 kmph, he reaches the station 2 minutes before
arrival of the train. What is the distance covered by him?

Options :

1. % 3.33 km
2. % 733 km
3. % 14.66 km
4. % 533 km

Question Number : 105 Question Id : 967947509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 5 kmph B1 7T T IAT & | T8 6 T T 3O YTHTIS! g ST & | TS I8 5.5 kmph P 71 T I &, o 98 YA & 3 ¥ 2 fFe
Ugd R IR Ugd A1 & | 39D gRT b1 g3t 0 &1 718 72

Options :

1. % 333km

2. ¥ 733 km

3. % 14.66 km

4. % 533km




Question Number : 106 Question Id : 967947510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Father can do his job in 6 days but with the help of his son he can do the same job in 4 days. How long will his son take to complete his father's
job?

Options :

1. # 18 days

2. % 6 days

3. % 12 days

4. % 3 days

Question Number : 106 Question Id : 967947510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el 10 1 b1 6 ferdT ® X The § TfchT S0 T Pt Tl § S BT Dl 4 oA H R el 1 T 310 a1 o 7l 1 QR oA A
[ d-l HHY II?
Options :

1. % 18feq
2. % gfeq
3.¢ 12feF
4. % 3feq

Question Number : 107 Question Id : 967947511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 6 men and 8 boys do a job in 10 days while 20 men and 40 boys do the same job in 2.5 days. How many days will 15 men and 20 boys to do
the same job?

Options :
1. %2
2. %3
3.¥°4
4. % 5



Question Number : 107 Question Id : 967947511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe 6 G 3R 8 AS e Tl B bl 10 1 H X & STaifeh 20 Yo 3IR 40 TS I B &1 2.5 A HBA G 15 SMGH! 3R 20 ASD
I BTH I foba &1 7 B

Options :

1. %2

2.% 3

3.4

4. %5

Question Number : 108 Question Id : 967947512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Worker X takes 10 hours to complete a job, worker Y takes 12 hours to the same job. The daily working hours are 3 hours and they work for the
first 2 days of a week only. How long (in days) should X and Y take working together in the same job?

Options :

1. % 3 days
2. % 14 days
3. % 2 days
4. % 7 days

Question Number : 108 Question Id : 967947512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4fH X Th B B R HRA T 10 92 AT 3, 40F v ST S Bl A § 12 9 Aa1 3| S Hrf & 6 3 1 § 3R d e & Ugd 2
3T & B FA B1 X 3R Y B THH H B T 1Y B B | fovadn w97 (&A1 #) @ =nfgw?

Options :

1. % 3feq

2. % 14faT

3. ¢ 2f¢a



4. % 7faq

Question Number : 109 Question Id : 967947513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B can do a job in 17 days and B and C can do it in 21 days. A, B and C can do the same job in 10 days. How many days will A and C take
to do the job if A is working in half efficiency?

Options :

1. ¥ 14.84 days
2. % 12.57 days
3. # 13.56 days
4. % 18.87 days

Question Number : 109 Question Id : 967947513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AIRBUG BB 17 A A AR TP & SR B AR C IV 21 A AR IPAEI A, BIRCIM PR BT 10 AT R Ipa g1 Il A
el T&raT A T HIIQT |, Al A 3R € I B Bl B | fobq fem do

Options :

1. ¢ 14.84 a7
2. % 1257fe
3. % 13.56f¢T
4. % 188717

Question Number : 110 Question Id : 967947514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the cost of carpeting a room 15 m long and 9 m wide with carpet of 90 cm wide at the rate of Rs. 12 per meter.
Options :

1. % Rs. 1600

2. % Rs. 2000

3. % Rs. 2200



4. % Rs. 1800

Question Number : 110 Question Id : 967947514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 3UT Ufd Hex 1 g T 90 cm TS BT B 1Y 15 m T 3R 9 m e TP H& W HIei (93 BT g J1d B |
Options :

1. # 1600 ®UU

2. % 2000%Uq

3. % 2200%UU

4. % 1800 >UU

Question Number : 111 Question Id : 967947515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the number of bricks required, each measuring 32 cm x 24 cm x 12 c¢cm to construct a wall of 32 m long, 12 m high and 80 cm thick,
if 10% of the wall is filled with mortar?

Options :

1. % 15000
2. % 30000
3. ¥ 45000
4. % 35000

Question Number : 111 Question Id : 967947515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe IR BT 10% AR T WA B, A 32 m doll, 12 m A 3R 80 cm AN EaR 91 & AU 32 cm x 24 cm x 12 cm AT AT Sl D1 TS B
famit S giit?

Options :

1. % 15000

2. ¥ 30000

3. % 45000



4. * 35000

Question Number : 112 Question Id : 967947516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The dimensions of an open box are 80 cm, 60 cm and 20 cm. The thickness is 4 cm. 1 cubic cm of metal weighs 0.8 gm., what will be the weight
of the box?

Options :

1. % 34.56 kg
2. % 4454 kg
3.9 2232kg
4. % 76.8 kg

Question Number : 112 Question Id : 967947516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wgﬁ%@wﬁmgo cm, 60 cm 33?20 cm%l m4 cm%l 1 99 cm YT hT a1 0.8 gm%,%@ﬁ?ﬁﬁwm?
Options :

1. % 34.56 kg

2. % 4454 kg

3.9 2232kg

4. % 76.8 kg

Question Number : 113 Question Id : 967947517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table gives the expenditure of the company per year over the given years. What is the ratio between the total expenditure on Taxes for all the
years and the total expenditure on Fuel and Transport for all the years respectively?



Item of expenditure
- s Fuel and - Interest on S e
Transport Loans
2015 5,287,154 1,23,282 50,195 26,904 1,190,401
2016 501,638 1,23,710 50,012 33,091 1,40,548
2017 8,03,303 1,49,706 38,368 32,325 1,25,468
2018 6,01,096 1,19,813 47,882 30,441 1,11,136
2019 520,439 1,25,659 53,440 30,581 1,02,757
Options :
1. % 2.68:1
2. % 2.86:1
3. % 0.73:1
4. % 0.37:1

Question Number : 113 Question Id : 967947517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dTferenT fT T4 ant & Ufd oy SHu! o o &1 g=1id! ¢ | 9 auf & foe ol R ot o SR Ha=n: it af o forg S ofR ude W o
g & i BT ST T 82




g B A
O SR
CORl éuﬁﬁ P FUWHAN | gGaRig
2015 587,154 1,23,282 50,195 26,904 1,19,491
2016 501,638 1,23,710 50,012 33,091 1,40,548
2017 8,03,303 1,49,706 38,368 32,325 1,25,468
2018 6,01,096 1,19,813 47 882 30,441 1,11,136
2019 5,29,439 1,25,659 53,449 30,581 1,02,757
Options :
1. % 2.68:1
2. % 2.86:1
3. % (.73:1
4.9 037:1

Question Number : 114 Question Id : 967947518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the percentage difference between the number of students passed with 30 cut off marks in physics and those passed with 30 cut off marks
in average taking average as the base?

Marks out of 50

Subject 40 and 30 and 20 and 10 and 0 and
Above above above above above
Physics 10 19 17 13 13
Maths 16 12 18 12 10
Average 13 16 18 13 12




Options :

1. ¥ 18.75 percent
2. * 17.85 percent
3. # 15.75 percent
4. * 15.87 percent

Question Number : 114 Question Id : 967947518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wfdept & 30 3ifaH 3T & 1Y I BT BT TBAT 3R G YR & U H 3G 30 i 3l & 1Y I<ivi 14 a1 B 1 T B
o ufaerd 3icR fear 82

50 H I 3P
fauyg
203N TU | 303MNSFW | 203N SFW | 10N FTW | 0 dRNIFIW
Hifast 10 19 17 13 13
forg 16 12 18 12 10
Gﬁ'f-l?-r 13 16 18 13 12
Options :
1. ¢ 18.75 Ufa=rd
2. % 17.85 Ufa=rd
3. % 1575 gfdwrd
4. % 1587 Ufd=rd

Question Number : 115 Question Id : 967947519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vert

ical

Correct Marks : 1 Wrong Marks : 0.25

The percentage of 32AH batteries sold to the total number of batteries sold was maximum in which year?




Type of Batteries

Year

4AH 7AH 32AH 35AH

2000 75 108 144 114

2001 89 102 75 160

2002 105 24 126 102

2003 26 a0 114 135

2004 115 28 60 109
Options :
1. ¥ 2000
2. % 2001
3. % 2002
4. % 2003

Question Number : 115 Question Id : 967947519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

St 718 el B a e | 3= T2 32AH delal &1 ufawrd feg av & siftreay ur

i el sTTeR

4AH 7AH 32AH 35AH
2000 75 108 144 114
2001 89 102 75 160
2002 105 84 126 102
2003 a5 a0 114 1315
2004 115 88 o0 109

Options :



1. % 2000
2. % 2001
3. % 2002
4. # 2003

Question Number : 116 Question Id : 967947520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Combining the states B and D together, what is the percentage of the candidate qualified to that of appeared?

Year
State 2010 2011 2012
Applied Qualified Applied Qualified Applied Qualified
A 3147 196 1554 208 2875 231
B 1618 153 4558 180 4109 255
c 3002 167 4410 183 3837 255
D 3730 190 3278 210 3762 238
E 2403 179 3261 171 2550 260
Options :

1. # 3.5 percent
2. ¥ 5.8 percent
3. # 6.3 percent
4. % 3.6 percent

Question Number : 116 Question Id : 967947520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS4l B 3R D &1 T 1Y fam W, e 37 & e giva Iefiqar &1 fara ufaerd g2




¥Tog 2010 2011 2012
3Tae 38T U 3ae EATUT | 3MeeT | SEarurd

A 3147 196 1554 208 2875 231
B 1618 153 4558 180 4109 255
C 30992 167 4410 183 3837 255
D 3730 190 3278 210 3762 238
E 2403 179 3261 171 2550 260

Options :

1. % 3.5 gfa=d

2. 5.8 faerd

3. % 6.3 Yfaerd

4. % 3.6 Yfaerd

Question Number : 117 Question Id : 967947521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The foreign exchange reserve in 2015 is how many times that in 20107



400000 -
349678
@ 350000 -
§ 300000 - 286169 283603
'{é 250000 { 221728 238153
& 200000 181400
S 146761
X 150000
& 100000 -
[ ]
& 50000 -
(15
0
2010 2011 2012 2013 2014 2015 2016
Year
Options :
1. ¥ 1.8 times

2. % 1.5 times
3. % 1.58 times
4. % 1.85 times

Question Number : 117 Question Id : 967947521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2015 T fag=it ga1 sRférd HeR 2010 & food= T 82



400000 -
343678
350000 -

300000 - 286169 283603
250000 | 221728 258138
200000 - 181400
186761
150000
100000 -
50000 -
0
2012 2014 2015

2010 2011 2013 2016

faeeh gor emfém v

Options :

1. % 1.8
2. % 1571
3.9 1.58 T[T
4, % 1.8571

Question Number : 118 Question Id : 967947522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the ratio of total sales of branch 4 for both years to branch 6 for both years?



N 2010 =2011

200 - 186
' 169
:ﬁ 252150 153 156154 153
piee Sk 135
1 120

120 - 109 100 108
100

o8 888

Ratio of total sales of branch

Bl B2 B3 B4 B5 EE B7

Branch

Options :

1. ¥ 47:64
2. % 64:47
3. % 68:50
4. % 50:68

Question Number : 118 Question Id : 967947522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

311 o & =IRAT (Branch) 4 1 &a faght BTG a8 H YRAT (Branch) 6 F SUTd H1 82
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Options :

1. ¥ 47:64
2. % 64:47
3. % 68:50
4. % 50:68

Question Number : 119 Question Id : 967947523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average production for five years was maximum for which company?
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2010 2011 2012 2013 2014
Year
Options :
1. % A
2.% B
3.¥C
4. % AandB

Question Number : 119 Question Id : 967947523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g Hu & o ug auf &1 3Ngd It 3ifiiemdr U




HA EB mC

2010 2011 2012 2013 2014
G|
Options :
1. % A
2. % B
3.¥ C

4. % A 3RB

Question Number : 120 Question Id : 967947524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In how many number of years the production of fertilisers was more than the average production of the given period?



3

81

8

69

70 -
57
20 -
10 -
o

2010 2011 2012 2013 2015 2016 2017

& & 8

Production of fertilisers
a

Year

Options :
1. %1
2. %2
3.%3
4.v 4

Question Number : 120 Question Id : 967947524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o auf & S| o1 IdTe &1 T3 3afd & 3T Iared I 31 ur
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Options :
1. %1
2. %2
3.% 3
4.v 4
General Englishl
Group Number : 7
Group Id : 96794727
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
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Group Marks : 20
Is this Group for Examiner? : No




General English1

Section Id : 96794727
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794731
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 967947525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Ken is a very modest and humble man / but I've never known a person as successful and in / doing what he has done that's as modest as him.
Options :

1. # Ken is a very modest and humble man

2. # but I've never known a person as successful and in

3. % doing what he has done that's as modest as him.

4. % No Error

Question Number : 121 Question Id : 967947525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Ken is a very modest and humble man / but I've never known a person as successful and in / doing what he has done that's as modest as him.
Options :



1. # Ken is a very modest and humble man

2. % but I've never known a person as successful and in
3. % doing what he has done that's as modest as him.

4. ® No Error

Question Number : 122 Question Id : 967947526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

"I love the Rambo movies," he / wrote. "Here was a guy who has zero / chance of success and always wins."
Options :

1. ¥ "I love the Rambo movies," he

2. ¥ wrote. "Here was a guy who has zero

3. # chance of success and always wins."

4. ® No Error

Question Number : 122 Question Id : 967947526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

"I love the Rambo movies," he / wrote. "Here was a guy who has zero / chance of success and always wins."
Options :

1. % "I love the Rambo movies," he

2. ¥ wrote. "Here was a guy who has zero

3. % chance of success and always wins."

4. # No Error

Question Number : 123 Question Id : 967947527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

If you look closely, you will / see Walgreens stores as densely packed in some / cities such as Starbucks coffee shops in Seattle.
Options :

1. # If you look closely, you will

2. # see Walgreens stores as densely packed in some

3. % cities such as Starbucks coffee shops in Seattle.

4. % No Error

Question Number : 123 Question Id : 967947527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

If you look closely, you will / see Walgreens stores as densely packed in some / cities such as Starbucks coffee shops in Seattle.
Options :

1. * If you look closely, you will

2. # see Walgreens stores as densely packed in some

3. % cities such as Starbucks coffee shops in Seattle.

4. % No Error

Question Number : 124 Question Id : 967947528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

A mountainous route across Himalayas / from east to west is the Great Himalaya / Trail of roughly 1,700 kilometres.
Options :
1. ¥ A mountainous route across Himalayas

2. # from east to west is the Great Himalaya



3. % Trail of roughly 1,700 kilometres.
4. % No Error

Question Number : 124 Question Id : 967947528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

A mountainous route across Himalayas / from east to west is the Great Himalaya / Trail of roughly 1,700 kilometres.
Options :

1. ¥ A mountainous route across Himalayas

2. # from east to west is the Great Himalaya

3. # Trail of roughly 1,700 kilometres.

4. % No Error

Question Number : 125 Question Id : 967947529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Putting aside their egos, the Wells Fargo / team pulled the plug on its international operations, / excepting the truth that it could not get any better.
Options :

1. # Putting aside their egos, the Wells Fargo

2. # team pulled the plug on its international operations,

3. ¥ excepting the truth that it could not get any better.

4. % No Error

Question Number : 125 Question Id : 967947529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the



option 'No Error'.

Putting aside their egos, the Wells Fargo / team pulled the plug on its international operations, / excepting the truth that it could not get any better.
Options :

1. # Putting aside their egos, the Wells Fargo

2. % team pulled the plug on its international operations,

3. ¥ excepting the truth that it could not get any better.

4. % No Error

Question Number : 126 Question Id : 967947530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Its not any one variable at) isolation that makes a company great.
Options :

1. ® It is not any one variable at

2. % Its not any one variable on

3. % It is not any one variable in

4. ® No correction required.

Question Number : 126 Question Id : 967947530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Its not any one variable at) isolation that makes a company great.
Options :

1. # It is not any one variable at

2. # Its not any one variable on

3. % It is not any one variable in

4. ® No correction required.



Question Number : 127 Question Id : 967947531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(That had being said, it is worth noting) that most of the good companies are still going strong at the time of this writing.
Options :

1. # It had been said that it is worth noting

2. ¥ That being said, it is worth noting

3. % That's being said that it is worth noting

4. # No correction required.

Question Number : 127 Question Id : 967947531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(That had being said, it is worth noting) that most of the good companies are still going strong at the time of this writing.
Options :

1. * It had been said that it is worth noting

2. % That being said, it is worth noting

3. # That's being said that it is worth noting

4. # No correction required.

Question Number : 128 Question Id : 967947532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(May be no company anywhere) generates as much antipathy as Philip Morris.



Options :

1. #® Perhaps no company nowhere

2. % Perhaps no company somewhere
3. ¥ Perhaps no company anywhere

4. ® No correction required.

Question Number : 128 Question Id : 967947532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(May be no company anywhere) generates as much antipathy as Philip Morris.
Options :

1. # Perhaps no company nowhere

2. % Perhaps no company somewhere

3. ¥ Perhaps no company anywhere

4. # No correction required.

Question Number : 129 Question Id : 967947533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Even if a manufacturing company can be (considered truly greater, their are doubts as to) whether an engine manufacturing company can truly
endure this.

Options :

1. ¥ considered truly great, there are doubts as to
2. # considered truly great, their are doubts as to
3. % considered truly great, there is doubts as to

4. ® No correction required.



Question Number : 129 Question Id : 967947533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Even if a manufacturing company can be (considered truly greater, their are doubts as to) whether an engine manufacturing company can truly
endure this.

Options :

1. ¥ considered truly great, there are doubts as to
2. # considered truly great, their are doubts as to
3. % considered truly great, there is doubts as to

4. % No correction required.

Question Number : 130 Question Id : 967947534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

His observation was correct, she never did intend to leave.
Options :

1. ¥ essential

2. # secondary

3. % optional

4. ¥ mandatory

Question Number : 130 Question Id : 967947534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

His observation was correct, she never did intend to leave.
Options :

1. ¥ essential



2. # secondary
3. % optional

4. ¥ mandatory

Question Number : 131 Question Id : 967947535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

When we systematically all 5979 articles in the study, we found fewer articles surrounding the transition date.

Options :

1. # disarranged
2. # disordered
3. ¥ tabulated

4. % confounded

Question Number : 131 Question Id : 967947535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

When we systematically all 5979 articles in the study, we found fewer articles surrounding the transition date.

Options :

1. % disarranged
2. % disordered
3. % tabulated

4. % confounded

Question Number : 132 Question Id : 967947536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.



The reason is that they are struggling, consciously or , against their own resistance.
Options :

1. * nonconsciously

2. ¥ unconsciously

3. % preconsciously

4. # hyperconsciously

Question Number : 132 Question Id : 967947536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The reason is that they are struggling, consciously or , against their own resistance.
Options :

1. # nonconsciously

2. ¥ unconsciously

3. # preconsciously

4. # hyperconsciously

Question Number : 133 Question Id : 967947537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Channing’s comment proved to be an gift, as it planted the seed of a question that became the basis of this entire book.

Options :

1. ¥ invaluable
2. ® expensive
3. % expressive

4. # astounding

Question Number : 133 Question Id : 967947537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Channing’s comment proved to be an gift, as it planted the seed of a question that became the basis of this entire book.

Options :

1. ¥ invaluable
2. # expensive
3. % expressive

4. # astounding

Question Number : 134 Question Id : 967947538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The first Rotary Club was formed when

P. a meeting of three business acquaintances

Q. friend Gustave Loehr's office in the Unity Building
R. attorney Paul P. Harris called together

S. in downtown Chicago, United States, at Harris's

on Dearborn Street on February 23, 1905.
Options :

1. % SQRP

2. % PSQR

3. ¥ QSRP

4. ¥ RPSQ

Question Number : 134 Question Id : 967947538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.



The first Rotary Club was formed when

P. a meeting of three business acquaintances

Q. friend Gustave Loehr's office in the Unity Building
R. attorney Paul P. Harris called together

S. in downtown Chicago, United States, at Harris's

on Dearborn Street on February 23, 1905.
Options :

1. # SQRP

2. % PSQR

3. % QSRP

4. ¥ RPSQ

Question Number : 135 Question Id : 967947539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

London is an ancient name,

P. attested in the first century AD,

Q. in the city originating from AD 65/70-80

R. for example, handwritten Roman tablets recovered
S. usually in the Latinised form Londinium;

include the word Londinio ('in London').
Options :

1. # PQRS

2. % PRQS

3. % PSRQ

4. ¥ SQRP

Question Number : 135 Question Id : 967947539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

London is an ancient name,

P. attested in the first century AD,

Q. in the city originating from AD 65/70—80

R. for example, handwritten Roman tablets recovered
S. usually in the Latinised form Londinium;

include the word Londinio ('in London').
Options :

1. # PQRS

2. % PRQS

3. ¥ PSRQ

4. % SQRP

Question Number : 136 Question Id : 967947540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct passage.

Allahrakha Rahman born A. S. Dileep Kumar known professionally as A. R. Rahman, is an Indian film composer, record producer, singer, and
songwriter who works predominantly in Tamil and Hindi films.

P. With his in-house studio Panchathan Record Inn, Rahman's film-scoring career began during the early 1990s with the Tamil film Roja.

Q. Among Rahman's awards are six National Film Awards, two Academy Awards, two Grammy Awards, a BAFTA Award, a Golden Globe
Award, fifteen Filmfare Awards and seventeen Filmfare Awards South.

R. Rahman initially composed scores for different documentaries and jingles for advertisements and Indian television channels.

S. In 2010, the Indian government awarded him the Padma Bhushan, the nation's third-highest civilian award.

Following that, he went on to score several songs for Tamil language films, including Ratnam's politically charged Bombay etc.
Options :
1. ® PQRS



2. ¥ SQRP
3. % SPRQ
4. % PSQR

Question Number : 136 Question Id : 967947540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct passage.

Allahrakha Rahman born A. S. Dileep Kumar known professionally as A. R. Rahman, is an Indian film composer, record producer, singer, and
songwriter who works predominantly in Tamil and Hindi films.

P. With his in-house studio Panchathan Record Inn, Rahman's film-scoring career began during the early 1990s with the Tamil film Roja.

Q. Among Rahman's awards are six National Film Awards, two Academy Awards, two Grammy Awards, a BAFTA Award, a Golden Globe
Award, fifteen Filmfare Awards and seventeen Filmfare Awards South.

R. Rahman initially composed scores for different documentaries and jingles for advertisements and Indian television channels.

S. In 2010, the Indian government awarded him the Padma Bhushan, the nation's third-highest civilian award.

Following that, he went on to score several songs for Tamil language films, including Ratnam's politically charged Bombay etc.
Options :

1. % PQRS

2. % SQRP

3. ¥ SPRQ

4. % PSQR

Question Number : 137 Question Id : 967947541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

An ancient civilization is defined to be in the Bronze Age

P. other metals available at the time, allowing
Q. arsenic, or other metals, or by trading for bronze from



R. production areas elsewhere. Bronze is harder and more durable than
S. either by producing bronze by smelting its own copper and alloying with tin,

Bronze Age civilizations to gain a technological advantage.
Options :

1. # PQRS

2. % RQSP

3. % SQRP

4. % QPRS

Question Number : 137 Question Id : 967947541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

An ancient civilization is defined to be in the Bronze Age

P. other metals available at the time, allowing

Q. arsenic, or other metals, or by trading for bronze from

R. production areas elsewhere. Bronze is harder and more durable than

S. either by producing bronze by smelting its own copper and alloying with tin,

Bronze Age civilizations to gain a technological advantage.
Options :

1. ¥ PQRS

2. % RQSP

3. ¥ SQRP

4. % QPRS

Question Number : 138 Question Id : 967947542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.



TRIVIAL
Options :

1. # RIVAL

2. % PURITY
3. ¥ SMALL

4. % WANTING

Question Number : 138 Question Id : 967947542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

TRIVIAL
Options :

1. # RIVAL

2. % PURITY
3. % SMALL

4. % WANTING

Question Number : 139 Question Id : 967947543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

EXODUS
Options :

1. ¥ ARRIVAL
2. % FORTUNE
3. ¥ DESTINY
4. ¥ DORMANT

Question Number : 139 Question Id : 967947543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

EXODUS
Options :

1. ¥ ARRIVAL
2. # FORTUNE
3. % DESTINY
4. ¥ DORMANT

Question Number : 140 Question Id : 967947544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

QUIESCENT
Options :

1. % RIGOROUS
2. ¥ INACTIVE
3. ¥ OBSTRUCT
4. % PERMISSIVE

Question Number : 140 Question Id : 967947544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

QUIESCENT
Options :

1. # RIGOROUS
2. ¥ INACTIVE
3. % OBSTRUCT
4. % PERMISSIVE
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Question Number : 141 Question Id : 967947545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

General English2

8
96794728

General English2
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1

Online
Mandatory
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16

20

Yes

1
96794732
Yes

Select the word that is similar in meaning (SYNONYM) to the word given below.

GREGARIOUS



Options :

1. # AMBIVERT
2. % FOOLISH
3. % COYy

4. ¥ AFFABLE

Question Number : 141 Question Id : 967947545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

GREGARIOUS
Options :

1. ¥ AMBIVERT
2. % FOOLISH
3. % COY

4. ¥ AFFABLE

Question Number : 142 Question Id : 967947546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

SUBSERVIENT
Options :

1. ¥ UNCONCERNED
2. % VEHEMENCE

3. % DISOBEDIENT
4. % IMPETUOUS

Question Number : 142 Question Id : 967947546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word that is opposite in meaning (ANTONYM) to the word given below.

SUBSERVIENT
Options :

1. ¥ UNCONCERNED
2. % VEHEMENCE

3. ¥ DISOBEDIENT
4. % IMPETUOUS

Question Number : 143 Question Id : 967947547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # CAPASCIOUS

2. # CAPATIOUS

3. ¥ CAPASCIUOUS

4. ¥ CAPACIOUS

Question Number : 143 Question Id : 967947547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ CAPASCIOUS

2. % CAPATIOUS

3. ¥ CAPASCIUOUS

4. ¥ CAPACIOUS

Question Number : 144 Question Id : 967947548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ HUMUNGOUS

2. ¥ HUMONGOUS

3. ¥ HUMONGUOUS

4. % HUMUNGUOUS

Question Number : 144 Question Id : 967947548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # HUMUNGOUS

2. ¥ HUMONGOUS

3. ¥ HUMONGUOUS

4. % HUMUNGUOUS

Question Number : 145 Question Id : 967947549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ IMPASSE

2. #® IMPASS

3. ¥ IMPASCE

4. % IMPACE

Question Number : 145 Question Id : 967947549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :



1. ¥ IMPASSE
2. #® IMPASS
3. ¥ IMPASCE
4. % IMPACE

Question Number : 146 Question Id : 967947550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ AMBIDEXTAURUS

2. ¥ AMBIDEXROUS

3. # AMBIDEXTEROUS

4. ¥ AMBIDEXTROUS

Question Number : 146 Question Id : 967947550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ AMBIDEXTAURUS

2. ¥ AMBIDEXROUS

3. ¥ AMBIDEXTEROUS

4. ¥ AMBIDEXTROUS

Question Number : 147 Question Id : 967947551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ RESURRECTION

2. % RESURECTION



3. ¥ RESERECTION
4. % RESERRECTION

Question Number : 147 Question Id : 967947551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ RESURRECTION

2. # RESURECTION

3. # RESERECTION

4. # RESERRECTION

Question Number : 148 Question Id : 967947552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

In a jifty

Options :

1. # To give freedom.

2. % A small mistake.

3. % Immediately, very quickly, or at once.
4. # A sudden jerk.

Question Number : 148 Question Id : 967947552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

In a jiffy
Options :

1. # To give freedom.



2. * A small mistake.

3. ¥ Immediately, very quickly, or at once.
4. # A sudden jerk.

Question Number : 149 Question Id : 967947553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Bolt from the blues

Options :

1. # Fish in shallow water.

2. ¥ Something unexpected or surprising.
3. # Thunder bolts.

4. % False invention.

Question Number : 149 Question Id : 967947553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Bolt from the blues

Options :

1. % Fish in shallow water.

2. ¥ Something unexpected or surprising.
3. # Thunder bolts.

4. % False invention.

Question Number : 150 Question Id : 967947554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.



To eke out

Options :

1. ¥ To use something sparingly in an attempt to preserve it.

2. % To search for something for a very long time.

3. # To get exhausted of doing a task which doesn’t seem to finish anytime soon.
4. ® Famished.

Question Number : 150 Question Id : 967947554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

To eke out

Options :

1. ¥ To use something sparingly in an attempt to preserve it.

2. % To search for something for a very long time.

3. # To get exhausted of doing a task which doesn’t seem to finish anytime soon.
4. #% Famished.

Question Number : 151 Question Id : 967947555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Muck-raking

Options :

1. ¥ Making sand castles.

2. # To take revenge.

3. % To avoid a conversation.

4. ¥ Trying to find out unpleasant information about someone.

Question Number : 151 Question Id : 967947555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Muck-raking

Options :

1. # Making sand castles.

2. # To take revenge.

3. % To avoid a conversation.

4. ¥ Trying to find out unpleasant information about someone.

Question Number : 152 Question Id : 967947556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

The school, college, or university that one once attended.
Options :

1. # Brusque

2. ¥ Alma mater

3. % Nostalgia

4. * Quasi mater

Question Number : 152 Question Id : 967947556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

The school, college, or university that one once attended.
Options :

1. # Brusque

2. % Alma mater

3. * Nostalgia

4. % Quasi mater



Question Number : 153 Question Id : 967947557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

A person who studies coins.
Options :

1. % Minimalist

2. % Numismatist

3. % Philanthropist

4. % Maderia

Question Number : 153 Question Id : 967947557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

A person who studies coins.
Options :

1. % Minimalist

2. % Numismatist

3. % Philanthropist

4. % Maderia

Question Number : 154 Question Id : 967947558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

A doctor who treats tumours.
Options :

1. % Pediatrician



2. # Dermatologist
3. % Oncologist
4. # Orthopedic

Question Number : 154 Question Id : 967947558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

A doctor who treats tumours.
Options :

1. # Pediatrician

2. % Dermatologist

3. ¥ Oncologist

4. % Orthopedic

Question Number : 155 Question Id : 967947559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

An entertainer who performs spectacular gymnastic feats.
Options :

1. ¥ Trampoline Artist

2. % Clod

3. # Dunce

4. % Acrobat

Question Number : 155 Question Id : 967947559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.



An entertainer who performs spectacular gymnastic feats.
Options :

1. # Trampoline Artist

2. % Clod

3. ®* Dunce

4. ¥ Acrobat

Sub-Section Number : 2
Sub-Section Id : 96794733
Question Shuffling Allowed : Yes

Question Id : 967947560 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (156 to 160)
Read the following passage carefully and answer the given questions.

The Rowlatt Act (famously known as the Black Act) refers to the draconian law passed by the British government in March 1919. It is officially
called the Anarchical and Revolutionary Crimes Act and gave enormous power to the British government and police to arrest anyone suspected
of seditious activities. It was meant to replace the emergency law called the Defence of India Act 1915. The Black Act was drafted by a
committee headed by a British Judge, Sir Sydney Rowlatt to curb the growing movement of nationalism in India. Despite a massive opposition
by the unofficial Indian members to the Act, the legislative assembly made the notorious bill into law in March 1919. Here are the provisions of
the infamous Rowlatt Act of 1919- the act gave the government authority to arrest any suspected person without a warrant and detain him/her for
up to 2 years without a trial, the act also meant severe limitations on free press and gave the police undue right to search public and private spaces
without a warrant, an indefinite ban on public gatherings of any nature. The Jallianwala Bagh Massacre took place on 13th April 1919 on the day
of Baisakhi when a large group of men, women and children unaware of the martial law decided to assemble in the park. The peaceful protest
was organised against the Rowlatt Act and the wrongful arrest of Congress leaders in India. Without any warning, General Dyer ordered its men
to block all entrances and to open fire on the peaceful gathering. This massacre took 400 civilian lives and injured 1200.

Sub questions

Question Number : 156 Question Id : 967947561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of 'draconian' from the given passage?
Options :

1. ¥ Excessively harsh and severe.

2. % Large and heavy.



3. % A group of young people from a particular area with a common interest.

4. ® Depression or other mental illness.

Question Number : 157 Question Id : 967947562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The infamous Rowlatt Act of 1919 gave the government authority to:

Options :

1. # collect taxes from the public & detain him/her for up to 2 years without a trial if they fail to pay them.
2. # to arrest people who were found moving around the country.

3. % to arrest people who were part of public gathering, 3 people together was also considered a gathering.

4. ¥ arrest any suspected person without a warrant and detain him/her for up to 2 years without a trial.

Question Number : 158 Question Id : 967947563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, at the Jallianwala Bagh the peaceful protest was organised against the Rowlatt Act and the wrongful arrest of which of
the following Indian leaders?

Options :

1. ¥ Congress leaders

2. % Muslim League

3. # Home Bhaba Party

4. % National Secular Society

Question Number : 159 Question Id : 967947564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is correct? Choose one option.

Options :

1. # The Rowlatt Act (famously known as the Black Act) refers to the draconian law passed by the British government in March 1915.

2. ¥ The Black Act was drafted by a committee headed by a British Judge, Sir Sydney Rowlatt to curb the growing movement of nationalism in
India.

3. ® The Jallianwala Bagh Massacre took place on the day of poornima when a large group of men, women and children unaware of the martial



law decided to assemble in the park.

4. # General Dyer ordered the gathered crowd to dismiss as they didn’t, he ordered open fire on the peaceful gathering.

Question Number : 160 Question Id : 967947565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. % Rowlatt Act is officially called the Anarchical and Revolutionary Crimes Act.

2. # Despite a massive opposition by the unofficial Indian members to the Act, the legislative assembly made the notorious bill into law in
March 1919.

3. % The Defence of India Act 1919 was meant to replace the Rowlatt Act of 1915.

4. # The Jallianwala Bagh massacre took 400 civilian lives and injured 1200.

Question Id : 967947560 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (156 to 160)
Read the following passage carefully and answer the given questions.

The Rowlatt Act (famously known as the Black Act) refers to the draconian law passed by the British government in March 1919. It is officially
called the Anarchical and Revolutionary Crimes Act and gave enormous power to the British government and police to arrest anyone suspected
of seditious activities. It was meant to replace the emergency law called the Defence of India Act 1915. The Black Act was drafted by a
committee headed by a British Judge, Sir Sydney Rowlatt to curb the growing movement of nationalism in India. Despite a massive opposition
by the unofficial Indian members to the Act, the legislative assembly made the notorious bill into law in March 1919. Here are the provisions of
the infamous Rowlatt Act of 1919- the act gave the government authority to arrest any suspected person without a warrant and detain him/her for
up to 2 years without a trial, the act also meant severe limitations on free press and gave the police undue right to search public and private spaces
without a warrant, an indefinite ban on public gatherings of any nature. The Jallianwala Bagh Massacre took place on 13th April 1919 on the day
of Baisakhi when a large group of men, women and children unaware of the martial law decided to assemble in the park. The peaceful protest
was organised against the Rowlatt Act and the wrongful arrest of Congress leaders in India. Without any warning, General Dyer ordered its men
to block all entrances and to open fire on the peaceful gathering. This massacre took 400 civilian lives and injured 1200.

Sub questions

Question Number : 156 Question Id : 967947561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the meaning of 'draconian' from the given passage?



Options :

1. ¥ Excessively harsh and severe.

2. # Large and heavy.

3. % A group of young people from a particular area with a common interest.
4. % Depression or other mental illness.

Question Number : 157 Question Id : 967947562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The infamous Rowlatt Act of 1919 gave the government authority to:

Options :

1. # collect taxes from the public & detain him/her for up to 2 years without a trial if they fail to pay them.
2. # to arrest people who were found moving around the country.

3. # to arrest people who were part of public gathering, 3 people together was also considered a gathering.

4. ¥ arrest any suspected person without a warrant and detain him/her for up to 2 years without a trial.

Question Number : 158 Question Id : 967947563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the given passage, at the Jallianwala Bagh the peaceful protest was organised against the Rowlatt Act and the wrongful arrest of which of
the following Indian leaders?

Options :

1. ¥ Congress leaders

2. % Muslim League

3. # Home Bhaba Party

4. ® National Secular Society

Question Number : 159 Question Id : 967947564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is correct? Choose one option.

Options :

1. # The Rowlatt Act (famously known as the Black Act) refers to the draconian law passed by the British government in March 1915.



2. ¥ The Black Act was drafted by a committee headed by a British Judge, Sir Sydney Rowlatt to curb the growing movement of nationalism in
India.

3. # The Jallianwala Bagh Massacre took place on the day of poornima when a large group of men, women and children unaware of the martial
law decided to assemble in the park.

4. ® General Dyer ordered the gathered crowd to dismiss as they didn’t, he ordered open fire on the peaceful gathering.

Question Number : 160 Question Id : 967947565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. # Rowlatt Act is officially called the Anarchical and Revolutionary Crimes Act.

2. % Despite a massive opposition by the unofficial Indian members to the Act, the legislative assembly made the notorious bill into law in
March 1919.

3. ¥ The Defence of India Act 1919 was meant to replace the Rowlatt Act of 1915.

4. ® The Jallianwala Bagh massacre took 400 civilian lives and injured 1200.
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Question Number : 161 Question Id : 967947566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR et 7 3 39 fahcu o1 9g7 &3 o feu 71 TfY - fade W & el T &1 by 71

YRd +3g
Options :
1. ¢ URdg
2. % YRdg
3. % 1Rdgs
4. % ARTAG

Question Number : 161 Question Id : 967947566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy d, IR ieeal 7 A 39 fad e &1 97 &3 o feu 1 TfY - fawse We & U8l Tt &1 Rpeu 71

YRd + 3¢
Options :
1. ¥ YRd—g
2. ¥ YRdg
3. % 1Rdgs




4. % ARTAG

Question Number : 162 Question Id : 967947567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad uy A, IR el 7 9 39 fad ey &1 9g7 o3 o feT U T & et Y fawde o1 faweu 81
feams:

Options :

1. % fgm +3ffs
2. % fg0 + ol
3. % fgH + afmgl
4. fgu + 3ifg

Question Number : 162 Question Id : 967947567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foffed uy §, IR el 7 9 39 fadh ey o1 997 B3 ol faT U T & et Y fade &1 fdpeu B
fears

Options :

1. % fgm +3nfe
2. % fg0 + ofich
3. % fgH + ol
4. T84 + 3

Question Number : 163 Question Id : 967947568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy d, IR el 7 A 39 fad e o1 97 &3 o feu 1 TfY - fawse We & el Tt &1 Rpeu 71
tlﬁ&ﬂJrB{%ﬁ




Options :

1. % giveamff
2. % GJeRA
3.« et
4. % gfeemff

Question Number : 163 Question Id : 967947568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiiad Uy & IR foedl ° T 39 ey &1 7o &1 o feu U Y - fo=de Wsg & It 1Y &1 lipeu g
qﬁ&ﬂ+3{2ﬁ

Options :

1. % givemef
2. % IR
3. ¢ TRiemf
4. % gfeemdf

Question Number : 164 Question Id : 967947569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifead uy d, IR el 7 9 39 fab ey &1 9g7 o3 o feu e TfY weg & gl TfY- fawe o1 fameu 81
TR

Options :

1. ¢ Tt + Ifd
2. % ! + Jfd
3. % gRa + 3RIa
4. % @1+ 3Id

Question Number : 164 Question Id : 967947569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFofifead uy §, IR el 7 @ 39 fab ey &1 9g7 o3 o feu e TfY weg & 98! TfY- fawe o1 fameu 8l
TR fard

Options :

1. ¢ Tt + Ifd
2. % ! + JHfd
3. % gRa + 3RIa
4. % @1+ 3Id

Question Number : 165 Question Id : 967947570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofaRad vy 8, IR fawedl & 9 39 fadwen &1 99 o Sl f3T U e & forg 98! sgaife 99 & faug &1 98t s g

EOEIS)

Options :

1. % Sd g Ud fords

2. % T FSd g o

3. % FEd g Wl Ud

4. FS 1A § O o g 1

Question Number : 165 Question Id : 967947570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad uy ¥, R fadedl 7 3 39 fadbed o1 99 Y o AT 71U g & forw Iet agdife T & U &1 wel fabeu 3|

ydade

Options :

1. % Fed § Ud o
2. % Ud Fed § o
3. % FSdE Sl U




4. ¥ FS S1d € U o Bg A

Question Number : 166 Question Id : 967947571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad uy ¥, TR fawedl § I 39 Aoy &1 787 B S SUJ A 54 Weg, T I fAbeu 2|
Options :

1. # gl

2. % JHGM

3. ¢ YR

4. ® d[clld

Question Number : 166 Question Id : 967947571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed vy o, 9R fadmed! § 9 39 fadbed &1 997 3 Sl SUTH 9 4 ek H1 g fabed 5|
Options :

1. ® Hglddh

2. ® JHGHY

3. % XU

4. % Il

Question Number : 167 Question Id : 967947572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad Uy &, IR fadwedl § ¥ 39 fadhed &1 I8 H1 ofl U I 4 X8 o1 ol [adhed ¢
Options :

1. ¢ Al

2. % 34T

3. % W=d

4. % foQ




Question Number : 167 Question Id : 967947572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad Uy &, IR fawedl 8 ¥ 3 fadhed &1 98 $1 ol T I 94 X8 &1 ol [adhed ¢ |
Options :

1. ¢ T

2. % 3dd

3. % W=d

4. % faviy

Question Number : 168 Question Id : 967947573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i s 7, TR fasedl & 9, 39 fased &1 707 B Sl 310 YN drde Fa-1H &1 Jad 31T fased 3 |
Options :

1% g

2. % FHPI

3.V W

4. % qOPI

Question Number : 168 Question Id : 967947573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed Uy & IR fawedl § 9, 39 fadmed &1 98 &1 off 379 I3 arad qa-TH &1 Ty 35T fadhed g |

Options :
1. % qd
2. % 3dP]
3. ¥ W
4. % qOPI




Question Number : 169 Question Id : 967947574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foaliad Uy & IR fomel & T 39 fohcy &1 7o &Y o f3T U e 71 T8 I ee 2|

Ha
Options :
1. % QUi
2. % WY
3. % Ry
4. ¥ HYg

Question Number : 169 Question Id : 967947574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed vy &, IR ol 7 9 39 fah ey &1 98 &3 o T 77U Xec &1 I8! fahH Tst B

Ha
Options :
1. % QUi
2. % A
3. % fm

4. HG

Question Number : 170 Question Id : 967947575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR el 7 9 39 fadey &1 9g7 &3 S feT TN Yeg & YATuaT=) e 1 Tal fabey T8l 81
Gais|

Options :
1. % RATETHIT




2. ¥ oo
3. % gR
4. % e

Question Number : 170 Question Id : 967947575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad uy A, IR el 7 @ 39 fadey &1 9g7 &3 S feT TN Yeg & Uaiuare) eg &1 Tal fadey T8l B
B

Options :

1. % QAT
2. ¥ ol

3. % gR

4. % Hohe

Question Number : 171 Question Id : 967947576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawed § O 39 fadmed &1 9 &3 ot U TU Weg-TH & Tal 3 &1 fawed g |
TR UG

Options :

1. « YI-d,]EFdl
2. % U=, gaT
3. % U Rl
4. % Tpelra, T

Question Number : 171 Question Id : 967947576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy o, aR fowedl & T 39 fawed &1 99 &3 off fAU T8 Wsg-gH & Tt 3 &1 fadwed g |




TR IR
Options :

1. & YId,Fdl
2. % UId,gciil
3. % URRE
4. % UpefTa, Ul

Question Number : 172 Question Id : 967947577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR faweul § ¥ 39 famed &1 70 &1 S fou 10 Teg -g & Ta! o &1 fadweu 5|
AR - SR

Options :

1. #® dif g}

2. % QMY

3. ® HACR. I b
4. ¢ foT &P, TR

Question Number : 172 Question Id : 967947577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRed oy & IR fawedl § O 39 fadhed &1 7a &1 off 3T U ¥eg - & Tat 3 &1 fawea §1
S{IARTH - SR

Options :

L #® dif X

2. % QY

3. % HACR, [T b
4. ¢ foTEd, g




Question Number : 173 Question Id : 967947578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy §, IR ieeal 7 9 39 fab ey &1 997 &3 S feT U areiey & ot Ue Wsg &1 Iel fabcu gl
Sl ORI & GER ST 8l -

Options :

1. ¢ RIUSitdt
2. % RIYHRL
3. % URGR®

4, % I

Question Number : 173 Question Id : 967947578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR ieeal 7 @ 39 faw ey &1 gg7 o S feT 7Y arei & ot Ue Wsg &1 98! fabeu gl

Sl gERI b Y8R Sidl 8l -
Options :

1. ¢ WRigeial

2. % RUBRI!

3. % URGR®

4, % I

Question Number : 174 Question Id : 967947579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiad uy & IR foeel # T 39 ey &1 7o &1 5t feT U s 1 3ot Weg &1 98! faey T8 31

hah
Options :
1. ¢ Sl




2. % I
3. % Y
4. % g

Question Number : 174 Question Id : 967947579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy & IR el 7 @ 39 fad e &1 97 & S foT TN Yeg &1 31l Wec o1 T8l faey T8l 81

hh
Options :
1. ¢ &I
2. % G
3. % Y
4. % g

Question Number : 175 Question Id : 967947580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifed uy & IR el 7 A 39 fah e o1 9g7 &% ot fou U Yo & et 3idf o1 I fdweu B
REILIG]

Options :
1. ® fReR
2. % ST
3.¥3%
4. % g

Question Number : 175 Question Id : 967947580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy & IR el 7 @ 39 fadeu o1 97 &8 ot o U Yee & et 31 71 Ifed faweu 81




RIGINIG]
Options :

1. ®% fReR
2. % SITAY
3.¥ 3%

4. % g

Question Number : 176 Question Id : 967947581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy &, TR o & 9 30 8! faded o1 7o &3 ot Rad I & o Iuged Usg &1 Ue! fdwed ]

P18 ol Safaa Siha Tl 38 Thdl, SibhargIsgd§al gl
Options :

1. ® ddl

2. % Yl

3. % d[d

4. ® dUqHl

Question Number : 176 Question Id : 967947581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad us o, TR fowen T ¥ 39 U8 fadwed &1 9g9 o3 o Rad ®IM & I Iuged e &1 el fadweu 71
o +ff e b g X TehdlT, b g1 Jgd ISt gl

Options :
1. # odl
2. YAl
3. % dId
4. ® dUHl




Question Number : 177 Question Id : 967947582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl # O 39 fadwed o1 999 & o eg & Y U &1 Ug! f[adhed g
Options :

1. % §EHIAA

2. % AR

3. ¢ quiHTdd

4. % quHIfad

Question Number : 177 Question Id : 967947582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl § 9 39 faded &1 99 &1 ol Weg & Y& U &1 Ug! [adbed g
Options :

1. % g

2. % g

3. ¢ UM

4. % gufArfad

Question Number : 178 Question Id : 967947583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl # O 39 fadwed o1 999 HX o) U Sgaa- eg &1 fadhed 3|
Options :

1. % P

2. % Jg

3. % I

4.« YUl

Question Number : 178 Question Id : 967947583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

9 fapedl o ¥ 39 [Ahed &1 997 B3 Sl Y&d Sgad- Vg o1 [dhed 3|
Options :

1. % HH

2. % Jgd

3. % T

4.« YI[

Question Number : 179 Question Id : 967947584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad vy & 9, 39 faswed &1 70 & o Ged YfedT = ara fawed 3|
Options :

1. ¢ S

2. % fgdt

3. % goal

4. % §g@

Question Number : 179 Question Id : 967947584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy & 9, 39 faded &1 987 &3 S ¥ed YfeeT =0 aral fadbed g |
Options :

1. ¢ S

2. % fgdt

3. % godl

4. % ggb

Question Number : 180 Question Id : 967947585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fofefad Uy & T 39 by &1 797 &3 o feU 70 a1 & U &1 I8t fAsea B
TRIC B SHRI W& 8|

Options :

1. % 3B dAD
2. ¢ Jog drd®
3. % Y daradh
4. ® Jbd P

Question Number : 180 Question Id : 967947585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifead gy & I 39 by &1 997 &L o faU 7T a1 & U o1 et fApeu B

IS o TART T 811
Options :
1. % =1 dlddh
2. ¥ g drIh
3. % fqy s
4. % Hobd draIh

General Hindi2
Group Number : 10
Group Id : 96794730
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

General Hindi2
Section Id : 96794730
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794735
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 967947586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied oy & 3 39 fawed &1 999 o <1l fau 70 a1eg & gt & N &1 98! fadbea g
REERIERISEN ]

Options :

1. % dagrd

2. % Yopard

3. % faemd

4. ¢ YT H

Question Number : 181 Question Id : 967947586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy & 9 39 fadwed &1 98 &< S fu TN a1 & gy & e &1 Ig! [dwed ]




g1 Al § el A |
Options :

1. % gagrd

2. % Yopard

3. % faemyf

4. ¢ UGS

Question Number : 182 Question Id : 967947587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad Uy & T 39 by &1 797 &3 o feU 770 a1 & U &1 I8t fApea B

gg et Y STt g, 98T 3 i S g |
Options :

1. ¢ TOfSd oty

2. % ggId aIR

3. % RAdIH

4. % Jhddrad

Question Number : 182 Question Id : 967947587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffead Uy & I 39 by &1 9= &L o faU 7T a1 & U o1 et fAped B
a8 gt i Kt ], 981 o i a1t g |

Options :

1.  THigd a1
2. ® gYad a1
3. % A A
4. % Yhadrdd




Question Number : 183 Question Id : 967947588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffed Uy & I 39 Ahey &1 9= B o faU 77T 911 & Y&l & He &1 el [dbeu gl
foaToft st egan o g |

Options :

1. % IRAGdH

2. ¢ 3gRT/ AarEds
3. % 3 Yidd

4. % YIfA=a®

Question Number : 183 Question Id : 967947588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad Uy & T 39 ey &1 997 &3 o feU 770 a1 & Uel & He 1 Iat fdbeu gl
TSl Il T8 9d g

Options :

1. % RAIID

2. ¢ 3gil/ FAaaa®
3. % 31T idd

4. % YIfARIA®

Question Number : 184 Question Id : 967947589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifead Uy & I 39 Ahey &1 9= B o faU 77T 911 & Y&l & He &1 Jel f[dbeu gl
YS! T TS B

Options :

1. % IROAdD




2. % RIfded®

3. ¢ QUiAEa®
4. % grAddd

Question Number : 184 Question Id : 967947589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad Uy & T 39 Ahey &1 9= &3 o faU 770 a1 & Uel & He &1 Iat fdbeu gl
YS! T TS

Options :

1. % JRVGAD
2. % TATfQEd®
3. ¢ QUiAEIad
4. % QIAGIdD

Question Number : 185 Question Id : 967947590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad gy & I 39 by &1 997 &L o feU 77T a1 & U &1 et fApeu B
T e T AT IR TR R H Fe 7S g

Options :

1. % SIAIdD dIH
2. % fHigd gt

3. % O dIH]

4. ¢ JYId a1

Question Number : 185 Question Id : 967947590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifad Uy & T 39 by &1 797 &3 o feu 70 a1 & U &1 I8t s 8|




H QA 3T AT R MW A dic A8 g
Options :

1. # S=8IdIddh dl]

2. % figd oty

3. % WA dIR]

4. ¢ ggad dI

Question Number : 186 Question Id : 967947591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faTIeedl o O 39 g &1 997 B3 S feu T a1 & giy & U &1 I8 s §1

¥ oft 37U Ty 9d Yhdl B2
Options :

1. ¢ A YIh

2. % faagd

3. % ogrd

4. % A gD

Question Number : 186 Question Id : 967947591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot o 9 39 fawed &1 997 & S fou T areg & gy & A &1 98! s 71

a1 & off 3T 1Y e a1 g2
Options :

1. ¢ A JaH

2. % faagd

3. % gagrdf

4. % qreOdl gadb




Question Number : 187 Question Id : 967947592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafdmed # O 3 fawed &1 Tg4 &3 o faR g gad arag &1 98! faded 5|
Options :

1. % 30 gt e SU=aTd o1 FHie fakau

2. % 319 I e U= Dt FHlar ferkau|

3. ¢ 3 Tt e I Si wten fafeu|

4. % 30 gt "TEM" IUITY B gHlar ferfu)

Question Number : 187 Question Id : 967947592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafamed & I 39 [dsmed &1 9 o St faR fug gad oo &1 98! faded g
Options :

1. % 3y gl e U B FHler fofay

2. % MU Gl MM U 1 FHlen ferfau

3. ¢ 3T T T I B! gHer fafau|

4. % Mg "M ITUY B HTar ffa |

Question Number : 188 Question Id : 967947593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad vy 8, IR fadwedl & 3 39 fddhed &1 90+ o Sl faR g gad a1 &1 9t faeed 5|
Options :

1. ¢ P& R1efp = o aveE a1 fH=m favg R ey ferem o forg e

2. % el ¥ Ruefep = fag : e a1 =g fawg iR ey fergd & fore wan

3. % e | e 7 o aRaE a1 fHRmyr fawg W ey fora & forw war|

4. % w1 ¥ e A fogmM, e a1 sifv=mg fowg R ey foram & forg s

Question Number : 188 Question Id : 967947593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafoied oy & IR fawedl § ¥ 39 fadwed &1 7o &1 ol fov™ fag gad e &1 et fawed |
Options :

1. ¢ HeT | e A a3 - ke a1 R fawg W) ey foras & fow &g1l

2. % HeT A e 7 I - Re™ a1 MR fowg W) ey forgw & fow &gt

3. % wHe H e 7 o e[ a1 =g favg &R ey foem & o Farl

4. % P e A oM, aRaH a1 iRy favg wR fRey fera & fow w11

Question Number : 189 Question Id : 967947594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9 3 fadhed &1 78 &1 off v g gad a1ed &1 9! fased g |
Options :

1. % 3Tg! I8 SIRT B g1 T

2. % 3{T8 I8 SIRT Ul B T

3. % 318, I8 SR el g1 4T

4.+ 3Tg! 98 SIRT el g1 7T

Question Number : 189 Question Id : 967947594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR faweul # 9 39 fadhed &1 7997 & S fav g gad a9 &1 9e] faswe g
Options :

|, % 38! 98 STIRT Bl 81 T4

2. % 38 98 S9RI ol 81 T

3. % 3T, 98 SR hd gl ATl

4. 318! 98 Y9RI e g 4T

Question Number : 190 Question Id : 967947595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fraforiad oy & o fawe # O 34 fawed &1 7 &3 off U 7T Herar o1 et o ara faswed g |
& ¥ IR §9 &1 T10rd

Options :

1. ¢ Y DI Sleal- Sleal dgM P HdTl
2. % 3P JHTd! T

3. % §gd Y=l g

4. ® HISATS BT ITHAT HIAT|

Question Number : 190 Question Id : 967947595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ve o, TR fawet § ¥ 39 faswed &1 7o &< S foU 78 HeTer &1 Jat o1 ara fawed ]
& Y IR S HI 01

Options :

1. ¢ Y DI Slegl- Sleal dgH P Hal
2. % 3P JHIET AT

3. % §gd Y=l g

4. % HfEATS BT AT HAT

Question Number : 191 Question Id : 967947596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiad oy & o fawe # O 39 fawen &1 T &3 off U 7T Herar o1 et o ara faswed g |
ST RER g

Options :

1. % §gd gSdHl

2. Yd BHT/ SN BT

3. % §gd d¢l- TGIhR el




4. % I g

Question Number : 191 Question Id : 967947596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawed § O 39 fadmed &1 9a $3 off fU 7T grar &1 9et o arar fawed g |
ST RER g

Options :

1. % §gd 9SdH

2. ¢ 1T/ &I g

3. # dgd del- deldhr hg-l

4. % IS BT

Question Number : 192 Question Id : 967947597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa oy & TR fawe # T 39 fawen &1 T &3 off U 7T Herar o1 et o aran fawed g |
Bl & dld IS

Options :

1. % SRR AT

2. % eI B! I HRAI

3. % UBdId 38 ST

4.« R YAFR UTHR YiTdds Ig ST / 3a-d TaRT ST

Question Number : 192 Question Id : 967947597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawed § O 39 fadmed &1 9a $3 off fU 7T grar &1 9et o aran fawed g |
BTl & dld I




Options :

1. % AR AT

2. % GBIl I AT Bl

3. % URdId 38 ST

4.« T JAMIR UIHR HiddD g ST/ SAHD GaT o1

Question Number : 193 Question Id : 967947598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofliad uy & IR fowedl # T 39 fahcy &1 7= &1 ot fau U iopifad o1 Tgt 3 are faseu g1
ATl & Hd S1at § Tt A

Options :

1. % A WIHR BT

2. ¥ TG AN 91 9 o] S8 B HTHT JHN 5|

3. % Yd -Ud Y|

4, % dIHdaR Hi gl oitd glat g

Question Number : 193 Question Id : 967947598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fawenl § ¥ 39 fawed &1 7oH &1 S foU 7 diifad &1 det o aran fawe 71
Tl & Yd §1d 9 g1 A

Options :

1. # g WHR BT

2. ¥ T3 AN A I T8l §S DI HTH IHS 5|

3. % Yd -Ud YT

4. % AR B gl id gl g

Question Number : 194 Question Id : 967947599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reeal 7 A 39 fahcu o1 9g7 &3 ot feu U deifad o1 gt 31 arer fapeu g |
919 9 AR Hedh!, 9l dRar

Options :

1. ¢ g Y M 9¢- 9¢ B a1 HAT
2. % §gd IR I

3. % f3are 1 o1 F AP HR Al

4. % MUY HI e J a1 81 &

Question Number : 194 Question Id : 967947599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafiad Uy & IR foedl ° T 39 ey &1 7= &1 o fau U iopifad o1 Tgt 3 g fasea g1
§19 9 AR AGH!, 9T RGN

Options :

1. ¢ T Y 31 9¢- §¢ B a1d HRAT
2. % §gd SRR T

3. % f3are & o7 I 7Y HR oAl

4. % MUY P! e J AT 8Ia1 8

Question Number : 195 Question Id : 967947600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reeal 7 A 39 fah e o1 9g7 &3 ot feu U deifad o1 gt 31 arer faeu g |
3iY P 3T A, YT ST | |

Options :

1. % QW Bl UG T T §

2. % I BT UHTG A USdl o

3. ¢ ! B AgUCRT o1 1 3 ol JH S H1 Ay §




4. % {HY BT BT U USAT B

Question Number : 195 Question Id : 967947600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed gy &, IR eeal 7 3 39 9 e o1 9g7 &3 o feu U difad o1 gt 31 arer fasey g |
3% P MG, 3T ST WA |

Options :

1. % QR Bl U T Y §

2. % I BT UHIE 3T USdl o

3. ¢ @I DI YGUG &1 AT 3 aTd YU B BT Y §
4. % {5 &1 BT AT USAT 8

Sub-Section Number : 2
Sub-Section Id : 96794736
Question Shuffling Allowed : Yes

Question Id : 967947601 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (196 to 200)

fau 7T TRy Y enTYde ufe SR fT Tw sl % IR v

T IR GR d¢ W TS WA & 3 Bt o1 el | a1 forera 81 g uell IR d¢ R 3hed gH @ | 83 T & 09 § Jgt 3wl At
fodl GHR 9 WA o8 & &= PR o | 341 offs | &l iy ol faETs Us 38 A1 T 1afl U7 3R g&R1 §cR | A &l 4 WiaH 7os & &1
& foTT SISt G A I B 31 | oy /1T A d ST 311 Tg A JT 8 TR STl g3 Ig U Taret] Hi fHrerr St RR OR Gt b1 HeohT 3 g ATl
DT B! P A TH & AT H TS! dol Bidl ¢ | T I R I 81 39 qal & Aedh B i <7 foran| <8l T 39 e | Ut off |
qHTd DI IS G - IRT 3R ATk TR d3HR gl W @l
%zh@mgﬁam:ﬁaﬁ%rﬁmmew@mwﬁmwﬁm| 3MRIR H a1 &1 Ul e fb ITh RR MW Ach A A Bl
G I
DI AN ST 3HGd BlS a1 Gepdll AT R o1 bl 2 b sfga e firer 31 81 dl 98 e Fhal 8| SaR §¢3 1 I TH A A UpT
1t T, TR P13 Bl A aTal T | I al ST W BT hH SIRT AT | g8 3R Tarar Ht S T o1 {6 391 g8l & 81 38T 8 | 39feie
I G5! BT ACH] RR Y IR IR Id THH R W &1 SR SW 2P IR &5l AR Bl Wl T | SR Tb J& TR HI3AT 3R de Gl 91y
~ Y &S A1 gH E 8 9 IR, TR TR <8t W |7, a1 SidT | Shie WX TaTe o UT UST U o181 91 URR I3THR 3 ¢ ART| HIfT ol IR




AT g1 3 T U7 o Ta1a1 hiel T HRT G § | I8 fa=T g1 IR Bl AT | SHIT ST I TR DI 370 3R T TGHR T F S HA
3R T8T T I I TaTal BT URR JaR FEY TR B S T 3R 39 dg! W g drs faar|

Sub questions

Question Number : 196 Question Id : 967947602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fTw5a o SR YA P! fbd UIaM & S o1 g firedl
Options :

1. % 3%

2. ¥ ¥

3. % Uged

4. % 3fica

Question Number : 197 Question Id : 967947603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DIa1 fr T Upfa &1 U1

Options :

1. ¥ IR

2. % T

3. % WA

4. % A

Question Number : 198 Question Id : 967947604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H1d B P fore Amel & dt gl 82
Options :

1. % 9els & WA |

2. ¢ GH & HHA H

3. % U & A |



4. % RO B |

Question Number : 199 Question Id : 967947605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T2 2Teg BT HIGaTad I 1 52
Options :

1. % T

2. % foEan

3.« foEan

4. % fErargul

Question Number : 200 Question Id : 967947606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Jwe & fore Ifd v ol |
Options :

1. % o

2. % PHIgT 3R I P B

3. % Ig7Q BT DId B Al IEMT

4. I vt

Question Id : 967947601 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (196 to 200)

fau 7T TRy Y enTgdes ufe SR fT Tw sl % IR v

T IR GFR d¢ W TS WA & 3 Bt o1 el | a1 forera 81 g uell IR d¢ R 3hed g1 @ | 83 T & 09 § gt 3wl At
fodl GHR 9 WA o8 & &= PR o | 341 offs | &l iy ol @S Us 38 A1 T h1afl U7 3R gaR1 9cR | A &l 4 WiaH o8 & &1
& foTT SISt G A I B 31 | oy /1T A d ST 317 X5 A JT 8 TR STl g3 Ig U Taret] Hi fHrerr St RR R Gt b1 HeohT 3 g Tl
DT B!V A TH & AT H TS dol Bl ¢ | T I QR I 81 39 qal & Ak P i <7 foran| <8l TR 39 e | Ut off |
qHTd D13 IS G - IRT 3R ATk TR d3HR gl W @l




%@Eﬂmgﬁﬁm%ﬁ?ﬁmﬁmﬁwwmnﬁmwﬁ 3% IR fHaT| SRR # 1910 &1 Ual Ia foh SUh RR IR IE Ach § Y Bis
WIETR

DI TN SO SHGd BIS a1 Govdl 1| R 51 et 2@ 1 sfgan e firet 3571 81 dl 98 9 Ihdl ¢ | aR §e A I VI HA I ApT
1t T, TR P13 Bl A aTal T | I al SO W BT hH SIRT T | g8 3R Tarar Ht S T o1 {6 391 g8l & 81 38T 8 | 39faig
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Sub questions

Question Number : 196 Question Id : 967947602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Jw5e & IR Ul & e WITae & 3 & g1 et
Options :

1. % 3%

2. ¥ Tdg

3. % gad¢d

4. % 3ffica

Question Number : 197 Question Id : 967947603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DIaT fh s Ul &1 U1

Options :

1. ¥ AR

2. % Td

3. % WA

4. % 4

Question Number : 198 Question Id : 967947604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



DI &1 2P forg A § a9 gt 82
Options :

1. % deR & qHd o

2. ¢ G & AHA H

3. % UH & AHa |

4. % RO B H

Question Number : 199 Question Id : 967947605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Xeg BT HITdTES T T 82
Options :

1. % T

2. % fipra

3. ¢ foEran

4. % fiErargof

Question Number : 200 Question Id : 967947606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Jwse & forg I v® o
Options :

1. % fiEran

2. % DHIAT 3R TR P AT

3. % G701 HId B AT T
4. g8 vt




